KVS DIRECT RECRUITMENT EXAMINATIONS
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Roll Number

Name of the Candidate

Examination Name KVS PRT 26 FEB SH2
Exam Date & Time 26-02-2023 03:00:00

Subject : GE_Q01-Q10_PRT26FEBSH2
Question ID:- 1

BREACH (Noun)
Choose the word similar in meaning to the one given above.

(1) Lack
(2) Violation
(3) Virtue
(4) Blame
Options:-
.1, Option ID :- 1,

« 2, Option ID :- 2,
« 3, Option ID :- 3,
« 4, Option ID :- 4,
Answer Given:- 3, Option ID : -3

Question ID:- 2

LETHARGY

Choose the word opposite in meaning to the one given above ;
(1) TFatigue

(2) Suspicion

(3) Lust

(4) Vitality

Options:-

.1, Option ID :- 5,

« 2, Option ID :- 6,

« 3, Option ID :- 7,

« 4, Option ID :- 8,

Answer Given:- 2, Option ID : -6

Question ID:- 3



Identify the part of speech of the underlined word.
Rati just caught the train.

(1)

(2) Pronoun
(3) Adjective
(4)

Noun

Adverb

Options:-

«1, Option ID :- 9,

« 2, Option ID :- 10,

« 3, Option ID :- 11,

« 4, Option ID :- 12,

Answer Given:- 2, Option ID : -10
Question ID:- 4

Choose the option in which the jumbled words/phrases have been correctly formed into a
meaningful sentence.

(A) 1istoo

(B) I think

(C) for you

(D) that Anshul

(E) clever

1 &) (B) © (E) (D)
(2 (B) (D) (A) (C) (E)
(3 (B) (D) (&) E) (©)
4 (D) E) (A) ©) B)
Options:-

«1, Option ID :- 13,

« 2, Option ID :- 14,

« 3, Option ID :- 15,

« 4, Option ID :- 16,

Answer Given:- 3, Option ID : -15
Question ID:- 5

A gift was bought for me by Lata.

Choose the option in which VOICE in the above sentence has been correctly changed.
(1) I was bought a gift.

(2) Lata bought a gift for me.

(8) Lata buys a gift for me.

(4) Ibought a gift for Lata.

Options:-
«1, Option ID :- 17,
« 2, Option ID :- 18,



« 3, Option ID :- 19,

« 4, Option ID :- 20,

Answer Given:- 2, Option ID : -18
Question ID:- 6

The teacher said, “Rama, when will you complete your answer ?”

Choose the option in which Narration of the above sentence has been correctly changed.
(1) The teacher asked Rama when would she complete her answer.

(2) The teacher asked Rama when she would complete her answer ?

(3) The teacher asked Rama when she would complete her answer.

(4)

The teacher enquired Rama when would she complete her answer.

Options:-

.1, Option ID :- 21,

« 2, Option ID :- 22,

« 3, Option ID :- 23,

« 4, Option ID :- 24,

Answer Given:- 1, Option ID : -21
Question ID:- 7

Identify the part of the following sentence that has an error in it.

Hardly had he left home than it began to rain.

(a) (b) (©) (d)
(1) (d)
(2) (o)
(3) (b)
@ (a
Options:-

.1, Option ID :- 25,

« 2, Option ID :- 26,

« 3, Option ID :- 27,

« 4, Option ID :- 28,

Answer Given:- 2, Option ID : -26
Question ID:- 8

With the help of the given options, fill in the blanks in the following sentences.

She was waiting for me whenI _ there.
(1) had reached

(2) reached

(3) would reach

(4) will reach

Options:-

«1, Option ID :- 29,
« 2, Option ID :- 30,



« 3, Option ID :- 31,

« 4, Option ID :- 32,
Answer Given:- 2, Option ID : -30

Question ID:- 9

With the help of the given options, fill in the blanks in the following sentences.

I knocked the door but no one answered.
(1) into

(2) in

(3) at

(4) off

Options:-

.1, Option ID :- 33,
« 2, Option ID :- 34,
« 3, Option ID :- 35,

« 4, Option ID :- 36,
Answer Given:- 3, Option ID : -35

Question ID:- 10

With the help of the given options, fill in the blanks in the following sentences.
You should your shoes because they are dirty.
(1) take off

(2) put off

(3) getof

(4) take out
Options:-

»1, Option ID :- 37,
« 2, Option ID :- 38,
« 3, Option ID :- 39,

« 4, Option ID :- 40,
Answer Given:- 4, Option ID : -40

Subject : GH_Q11-Q20_PRT26FEBSH2

Question ID:- 11

Arer fgu T mener W ygE vaitys sfaa G w1 e sifag -

Tt a8t AT T 3iden 399 w9 9w S €, S quieEn et € fo 9 @ v Y e ®
T ifd i 3R 7 foredt o= avg 1 &1 3R 9™ S99 T HA § gued, @ Som @ 98 W U g 51 S|
I+ i A T i whe €, St TaR =Y 3rmeen Y et wu F uftafda s g €

HE T G 97 Tl § ?
(1) o8 R-Far @ ) =01 @
2) foH forsdl oft aag <) e 9 @

(
3) TR FR aa@mad
(4) S Tg W T A6 2



Options:-

«1, Option ID :- 41,

« 2, Option ID :- 42,

« 3, Option ID :- 43,

« 4, Option ID :- 44,

Answer Given:- 2, Option ID : -42

Question ID:- 12

e feu @ wenyT i ugHT gaitus sfaa fawmen @ wmm sifae -

Feadt G SAfR qawh! STan 399 ®9 A HE A R, S geian femedi § 5 A @ om ) e
T Hifd =t 3K A fordt o771 a3 1 €11 IR 09w o1 XW HA § qued, B e ot 9 W T 8§94 S|
3h i | UH fea yehe MY, S HER H 31FEen S yvl w9 | ufiafdd w5 gadt § )

Fa1 i vs el = GHAT § 2
(1) <NayEe
(2) SHFAR
(3) fomdzag
(4) fomd@d=ie
Options:-

«1, Option ID :- 45,
« 2, Option ID :- 46,
« 3, Option ID :- 47,
« 4, Option ID :- 48,
Answer Given:- 4, Option ID : -48

Question ID:- 13

e feu mu TNy S uge waifues stua fawmen o e sifeg -

FIA TG AfH Foleh! 3798 ITH T Q@ H1d Al 7, Sl Quiqan H.wanedl § f8 71 1 49 =it Ao @
q FIfd Y 3 7 fordt ar=a a%g 1 &1 3 99w7 919 T A ° |5, & Srgm 1 a7 W T g 91 S|
3IqF i | TH wfe Tahe E0f, St TaR i vawen w1 9yl ®Y § ufiafda R gadt )

ey o foryah uftafda 3 & 99 HT e T ?

(1) fava =i
(2) HHSH
(3) =afa =
(4) S|
Options:-

«1, Option ID :- 49,
« 2, Option ID :- 50,
« 3, Option ID :- 51,

« 4, Option ID :- 52,
Answer Given:- 4, Option ID : -52



Question ID:- 14

= fgu me TN i wgat waifues Sfaw fwTa @ = sifag -

Hae 9 oIfad gt U I9H Y J HE F 8, S quiaan e § 5 A om 6 e @
T HIfd =l 3IX 7 foredt o771 g =1 €11 3R 993 99 TW A § Tmed, @ Srem 1 9 o u g §4 S
395 i A U i whe Enf, St GER Y aeen Y 9yl w9/ aftafid T ged €

g5 1 Wi W Hdh Yahed Y =731 3 1 ]2
(1) HER Y JFE ! F9rad 5914 1 Ui
(2) =R & ITFF A Al
(3) HHER = gfEfdd w6 & afs
(4) =afFRT 1 HN-TTEH & FHYA H) wlA
Options:-
.1, Option ID :- 53,
« 2, Option ID :- 54,
« 3, Option ID :- 55,

« 4, Option ID :- 56,
Answer Given:- 4, Option ID : -56

Question ID:- 15

‘IaR’ 1 faemm T ® -

(1) f=
(2) YR
(3) #H
(4) o
Options:-

»1, Option ID :- 57,
« 2, Option ID :- 58,
« 3, Option ID :- 59,
« 4, Option ID :- 60,
Answer Given:- 2, Option ID : -58

Question ID:- 16

‘e w1 giy-fase § -

(1) M+

(2) HII+3Th

(3) wRIU+3TH

(4)  HIM+3TH
Options:-

.1, Option ID :- 61,
« 2, Option ID :- 62,



« 3, Option ID :- 63,

« 4, Option ID :- 64,
Answer Given:- 3, Option ID : -63

Question ID:- 17

‘Fifepen’ o1 TaTFaTE e § -
(1) @3

(2) =rds

(3) &I

(4) v

Options:-

.1, Option ID :- 65,
« 2, Option ID :- 66,
« 3, Option ID :- 67,
« 4, Option ID :- 68,
Answer Given:- 3, Option ID : -67

Question ID:- 18
FH-TEHT T HYT T © -
(1) Te-TR
(2) Fre-Fg
(3) gai-gd
(4) <fe-3fe
Options:-
.1, Option ID :- 69,
« 2, Option ID :- 70,

« 3, Option ID :- 71,

« 4, Option ID :- 72,
Answer Given:- 4, Option ID : -72

Question ID:- 19

Options:-

.1, Option ID :- 73,
« 2, Option ID :- 74,
« 3, Option ID :- 75,
« 4, Option ID :- 76,



Answer Given:- 1, Option ID : -73

Question ID:- 20

‘Hred & 489 W1 1 TE & 1 I % (@(TRd 39§ I § -

(1) <hdl HRH

(2) #H FH

(3) WIY FNH
(4) HO FH
Options:-

«1, Option ID :- 77,
« 2, Option ID :- 78,
« 3, Option ID :- 79,

« 4, Option ID :- 80,
Answer Given:- 3, Option ID : -79

Subject : GA_Q21-Q30_PRT26FEBSH2
Question ID:- 21

When is the Navy day observed in India ?
(1) 1 December
(2) 15 December
(3) 19 December
)

(4) 4 December

U § A-8A1 feaq e 741 S @ ?

(1) 1 feEm
(2) 15 fegm=v
(3) 19 fegwi
(4) 4 feqmR
Options:-

.1, Option ID :- 81,

« 2, Option ID :- 82,

« 3, Option ID :- 83,

« 4, Option ID :- 84,

Answer Given:- 2, Option ID : -82
Question ID:- 22

Which Book/ Title was awarded the Bal Sahitya Puraskar 2022 in Kannada language by the
Sahitya Akademi ?

(1) Huttayya

(2) Matte Hosa Geleyaru
(3) Bavali Guhe

(4) Nooniya Sahasagalu



e HHRE! g FHi-1g A9 § a4 2022 H 9 e (R oy qxaeh/ie 1 wea fovan mn ?
(1) &=

(2) HW W AdEE
(3) AR

(4) T @y
Options:-

«1, Option ID :- 85,
« 2, Option ID :- 86,
« 3, Option ID :- 87,
« 4, Option ID :- 88,
Answer Given:- 2, Option ID : -86

Question ID:- 23

Who won the Rashtriya Khel Protsahan Puraskar 2022 under the category ‘Sports for
Development’ ?

(1) Ladakh Ski and Snowboard Association

(2) Magic Bus India Foundation

(3) Sports Coaching Foundation

(4) The Golf Foundation

‘iied wR SFAUHe’ JU o d8d UL Wd TeHEA g, 2022 fHeA S ?
(1) <T@ i Ug Heg mfaw@E

(2) wfss 99 3fem wRSvA

(3) Tied wifgn wILTeA

4 Mo wEewA

Options:-

.1, Option ID :- 89,

« 2, Option ID :- 90,

« 3, Option ID :- 91,

« 4, Option ID :- 92,

Answer Given:- 2, Option ID : -90
Question ID:- 24

Who was elected the Prime Minister of Malaysia in the 15th general elections held in November
2022 ?

(1)  Muhyiddin Yassin
(2) Ismail Sabri Yaakob
(3) Anwar Ibrahim

(4) Abang Johari



AR, 2022 H §U 159 3IH A6 § 7Afn H yyEsA fmy g9 2

(1) Hqshgds @fga

(2) FEHEA FRA S

(3) 3IFeR goIfeH

(4) 3= Sl
Options:-

.1, Option ID :- 93,

« 2, Option ID :- 94,

« 3, Option ID :- 95,

« 4, Option ID :- 96,

Answer Given:- 2, Option ID : -94

Question ID:- 25
"Dignity for all in practice’- is the theme of which of the following ‘International Day’ observed in
the year 2022 ?
(1) International Da for elimination of violence against women
(2) International Volunteer Day
(3) International Day for the Eradication of Poverty
(4) International Day of Persons with Disabilities

gd 2022 § g U FHfafad  Hadda feag' § 9 feam oF ‘ fefimdl vk sifw 37 dfseq’ ur?
(1) Hfgensit & wfd f§a1 3 3917 & fau sadi<x feag

(2) slatsin amfea feaw

(3) Sausln e IqeA feag

(4) oot famansa ey

Options:-

.1, Option ID :- 97,

« 2, Option ID :- 98,

« 3, Option ID :- 99,

« 4, Option ID :- 100,

Answer Given:- 2, Option ID : -98
Question ID:- 26

What kind of change is observed if a few drops of Phenolphthalein indicator is added into acidic
and basic solutions ?

(1) It turns acidic solution into red colour and basic solutien into blue colour.

2) It turns acidic solution into dark pink colour and basic solution into green colour.
3) It turns a idic solution into pink colour and basic solution remains colourless.

(
(3)
(4) The acidic solution remains colourless and turns basic solution into pink colour.



1fg arefig 3R A faaadl § frAadfe? gus i 8 98 faen < o &) fF yer &1 agama feag
m?

(1) e vt oo =it o 1 o e faaaa =1 9id & d aga 2m)

(2) T8 3 faeraA &1 TR et 11 $iR & fadHa B @ &1 § Sed _ )

(3) 9% T Facta bt e 11§ ot T ¥ 3i e Ao T wean ¥

(4) 3 foaT T1EA A € o T% e faora &1 et 8 9gd & )

Options:-

.1, Option ID :- 101,

« 2, Option ID :- 102,

« 3, Option ID :- 103,

« 4, Option ID :- 104,

Answer Given:- 2, Option ID : -102

Question ID:- 27

Which of the following books was written by Olympe de Gouges te protest exclusion of women
from basi rights in the Constitution after the French Revolution ?

(1) A Vindication of the Rights of Women

(2) The Declaration of the Rights of Women and Citizen
(3) The Second Sex

(4) The Women Destroyed

FHE wifd & @ HfayE d afeesll @ gfad afuer § S F317 & faiy 9 Sad 2 ased A
frefafed § @ %1 9 g+ faet ?

(1) T fafehem 3w I 3w 3w 17

2) fa Feacitzr 3w & U5eH 1% A e fafesA

(3) fc dfp~e I

4 fRam swrs

Options:-

.1, Option ID :- 105,

« 2, Option ID :- 106,

« 3, Option ID :- 107,

« 4, Option ID :- 108,

Answer Given:- 1, Option ID : -105

Question ID:- 28

The Election to choose the representatives of states in the Rajya Sabha are held in accordance with
which of the following in India ?

(I) Two-round system
2)  First Past the Post system
3) System of Proportional Representation

(
(
(4) System of Alternate Voting



9Rd § fAefafad § 3 feadh sqar v gw 9 i & wfafiuei & fataa fam s 2
(1) f5-=vim vgfa (3 e famew)

(2) @ 9gHd 9E (W e g Ui fawen)
(3) ufa® wfaffrea vgfa

(4) dwfas AdeH vghd
Options:-

«1, Option ID :- 109,

« 2, Option ID :- 110,

« 3, Option ID :- 111,

« 4, Option ID :- 112,

Answer Given:- 3, Option ID : -111
Question ID:- 29

Percentage of population living in Households that use improved sanitation fadility is the highest
among which of the following states in India according to the Nati nal Family Health Survey

2019-21 ?

(1) Andhra Pradesh
(2) Arunachal Pradesh
(3) Kerala

(4) Mizoram

UL YER @ gdaqm 2019-21 % SR FEfafed § 9 9Rd % vy w1 3 510§ @3 areft e &1
I R Glaer &1 Iugm S H waerd Hatfus g 2

(1) Y 9w

(2) FEUTEA WS

(3) HA

(4) Tosim
Options:-

«1, Option ID :- 113,

« 2, Option ID :- 114,

« 3, Option ID :- 115,

« 4, Option ID :- 116,

Answer Given:- 2, Option ID : -114
Question ID:- 30

Which of the following variety of pulses grown in India is a Rabi Crop ?

(1) Gram
(2) Urad
(3) Arhar

(4) Moeng



HRA H @l %l B4 & €9 H gadgd $l &4 df fFm Jmg St g 2

(1) =
(2) 3=
(3) AW
(4 o
Options:-

«1, Option ID :- 117,
« 2, Option ID :- 118,
« 3, Option ID :- 119,

« 4, Option ID :- 120,
Answer Given:- 2, Option ID : -118

Subject : RA _Q31-Q35_PRT26FEBSH2

Question ID:- 31

How many pairs of consecutive number are there in the following number sequen: e each of
which is in descending order like (2,1).

875467653243254176 8
(1) 6
2 7
(3) 8
4) 9

frefafad e 9 1 19 fedd 9en-gm § 999 3 yois amar Hensti & o7ae e 8 § 99 (2,1) ?
87546765324 254176 8

() 6
2 7
3 8
4 9
Options:-

.1, Option ID :- 121,
« 2, Option ID :- 122,
« 3, Option ID :- 123,
« 4, Option ID :- 124,
Answer Given:- 3, Option ID : -123

Question ID:- 32



Pawan is to the west of Ramesh while Meena is to the east of Ramesh. Uma is to the north of
Meena and Geeta is to the north of Ramesh. In which direction is Geeta with respect to Uma ?

(1) North

(2) South
(3) East
(4) West

Tad, WY % 9vEs H § Fafh W, W9 gd {1 3H, WA F SWOH § R e, @k sae d §) A,
I & g fean § %2

(1) 3:
(2) <fgm
@ w
(4) df=gm
Options:-

.1, Option ID :- 125,
« 2, Option ID :- 126,
« 3, Option ID :- 127,

« 4, Option ID :- 128,
Answer Given:- 4, Option ID : -128

Question ID:- 33

Eight friends are sitting in two parallel olumns containing four persons each in such a way that
there is an equal distance between adjacent persons. In column 1, E, F, G and H are seated and all
of them are facing east. In column 2, ., B, C and D are seated and all of them are facing west. ‘G’
sits second to the right of ‘E". The one who faces ‘E’ sits to the immediate right of ‘A’. “A’ faces the
immediate neighbour of ‘E". “H’ sits to immediate left of the person who faces ‘C". “H’ does not sit
at the south end of the column. ‘B’ sits second to the right of ‘A’. Whois sitting opposite to ‘B,

() F
(2) E
3 G
4 H

a1é T3 =m-ar =fsadl % § IR Sidn § 38 7H6R 393 € i afasz afnd & <= v @ 8
He™ 1, HE, F, G iR H ¢ € 3l 37 aul F1 gz qd Y 3R &1 iaq 29 A, B, C 3R D a3 T 3ir 39 @it
H1Hg ufv=s T R F | ‘G, E Sl SR g EIF WIS § | E F G Y SR 931 Af ‘A’ I Uy
<Al AR T ‘A’ S FHA E 1 Hehean TSt Q21 €| ‘HY, ‘C’ % A 43 wifa o UehgH arfl 3R se
?1 ‘H Fam % <Ol sR WA A1 71 B, ‘A’ T <Pl 3 gE ™ WA | ‘B’ HIHA A =318 ?

(1) F
(2) E
@) G
4) H



Options:-

.1, Option ID :- 129,
« 2, Option ID :- 130,
« 3, Option ID :- 131,

« 4, Option ID :- 132,
Answer Given:- 4, Option ID : -132

Question ID:- 34

Given below is a question followed by twe statemens numbered I and II each containing some
information. Decide which of the statement(s) is/are sufficient to answer the question.

Q:
0:

(II)

(1)

How many stu lents are there between Anu and Manu in a row of students ?
Manu is exactly in the middle and there are 15 students to his right.
Anu is 20th from the left in row.

The statements (I) alone is sufficient to answer the question while the statement (II) alone is
not sufficient.

The statement (I) alone is sufficient to an wer the question while the statement (I) alone is
not sufficient

Both the statements (I) and (II) together are necessary to answer the question.

Both the statement (I) and (II) together are not sufficient t answer the question.

= ok WA fen e @ forsh 9 e 1 el 1 feu 7 § fomd & yois A 9 9w & wE 31 s faofyg
Ffe fh HA-H1/ 9 HYF U9 HT SN ¢ & fow vara 8/8)

q:

T F Uf o7 3w A ey T ¥

FYT (I): A THH =g § § 31 351 i 3R 158 €1
S (I): o U § 9@ W20 ©H W T

H2A (I) Foho! T 1 IW 34 & AL T § Sofeh HF ([1) 3Thel 7€ T8 ¥
HA (IT) Sht TH H1 I A F o0 gt & Jofeh o (1) sthet wara 481 &1
e (I) AR (1) S FHSAF J99 1 IW A * fq0 A@99a+ £
FF (1) 3R (1), S HAR T 1 IT 33 * A0 v 781 81

Options:-
«1, Option ID :- 133,

« 2, Option ID :- 134,
« 3, Option ID :- 135,

« 4, Option ID :- 136,
Answer Given:- 3, Option ID : -135

Question ID:- 35



In the diagram given below, circle ‘'E’ represents educated, circle ‘S” represents skilled, circle ‘T’
represents trained and circle ‘U’ represents urban persons.

T
How many are non-educated, non-skilled and trained urban persons ?
(1) 12
(2) 13
(3 14
(4) 15

19 f2u 1w H1E |, g9 E RifEd @1, 99 ‘S Feie A &1 g9 T wiafid w1 a9 g9 U wed safaas
=1 yfafafires & 21

fora IR-foifera, svpora i wfwifera w1t orfaq €7

1 12
(2) 13
(3) 14
(4) 15

Options:-

«1, Option ID :- 137,
« 2, Option ID :- 138,
« 3, Option ID :- 139,

« 4, Option ID :- 140,
Answer Given:- 2, Option ID : -138



Subject : CL_Q36-Q40_PRT26FEBSH2
Question ID:- 36
Which of the following is not an example of Operating System ?
(1) Linux
(2) macOS
(3) Android
(4)  Microsoft Office

frfafad 9 @ s 3 fawen =1 g 48 &2

(1) eI
2) H& 3 Uy
3) uTgmE

(
(
(4) HEHIHAR AT
Options:-

.1, Option ID :- 141,

« 2, Option ID :- 142,

« 3, Option ID :- 143,

« 4, Option ID :- 144,

Answer Given:- 4, Option ID : -144

Question ID:- 37

UPS stands for

(1)  Unbroken Power System

(2) Unobstru ted Power Supply
(3)  Under-control Power System
(4)  Uninterruptible Power Supply

I W UH (UPS) 1 #7 Hd §?

(1)  Unbroken Power System

(2) Unobstructed Power Supply
(3) Under- ontr 1 Power System
(4) Uninterruptible Power Supply

Options:-

«1, Option ID :- 145,

« 2, Option ID :- 146,

« 3, Option ID :- 147,

« 4, Option ID :- 148,

Answer Given:- 1, Option ID : -145

Question ID:- 38



Which of the following does not come under cyber-crime offence according to IT Act 2000 ?
(1) Distributing pirated software over internet

(2) Misusing personal information over internet

(3) Stealing a brand new iPad from a computer store
(4)

4) Using fake email messages to get personal information

378 21 TR, 2000 (IT Act 2000) % AR, F=fafaa § & 7o Aga syoay 487 §72
(1) 3¢ W uiAifee digeany faaf@ s

(2) FRA W =AfRITT NFFR 1 gEUAR HEAT
(3) Uh HEYI ER Y UH 1 G- WA
(4) = IASH WE FH H AU THA 3-TA WS B T FA

Options:-

«1, Option ID :- 149,

« 2, Option ID :- 150,

« 3, Option ID :- 151,

« 4, Option ID :- 152,

Answer Given:- 1, Option ID : -149
Question ID:- 39

What is a router in computer terminology ?
(1)  An input device

(2) An output device

(3) A computing device

(4) A networking device

HEIEl Yisgidell § Ush T3 (router) F1 8 7
(1) T 3qe feaH

(2) UH ALY feard

(3) Uk Hgfr feary

(4) Th Azafh feamH

Options:-

«1, Option ID :- 153,

« 2, Option ID :- 154,

« 3, Option ID :- 155,

« 4, Option ID :- 156,

Answer Given:- 1, Option ID : -153

Question ID:- 40



Which type of network do we create when we connect two smart phones to ransfer some photos
through Bluetooth ?

(1) BTN
(2) PAN
(3) LAN
(4) WAN

Sd 39 $S T IR FHA & AU 2y & H1oqH § Q WEEA F FAa Fd ¢ dl fFH YR 6 323
FAAT R ?

(1) =3 T (BTN)

(2) 4l TUA (PAN)
(3) TATT (LAN)
(4) =Y T (WAN)

Options:-

.1, Option ID :- 157,
« 2, Option ID :- 158,
« 3, Option ID :- 159,

« 4, Option ID :- 160,
Answer Given:- 1, Option ID : -157

Subject : UL_Q41-Q55_PRT26FEBSH2
Question ID:- 41

What is the role of ‘Maturation” in learning ?
(1) It would fix learning goals.

(2) It determines behaviour.

(3) It facilitates memory.

(4) It determines readines .

aiferm § ¢ afigsaar’ = s fqw &2
(1) 399 frm & @ed & fuRm gem
2) TEH FEER H AT T 2 |

) 3EH T Y Tt A ¥

4)  THY TEE FTR B ¥
Options:-

.1, Option ID :- 161,

« 2, Option ID :- 162,

. 3, Option ID :- 163,

« 4, Option ID :- 164,
Answer Given:- 1, Option ID : -161



Question ID:- 42

Which one of the following is cognitive process ?
(1) Interest

(2) Attention
(3) Values
(4) Muscle control

fr=ifera § 9 o201 SIEHS THE © 2

(1) ¥4

(2) &A

(3 9=

(4) Uit fEEm
Options:-

«1, Option ID :- 165,

« 2, Option ID :- 166,

« 3, Option ID :- 167,

« 4, Option ID :- 168,

Answer Given:- 1, Option ID : -165
Question ID:- 43

Development of ‘Self - control” by child falls under :
(1)  Social domain

(2) Physi al domain
(3) Cognitive domain
(4) Socio - Emotional domain

e g ‘e FrE @ fasr fmifeed § @ feadh ofariq e €2
(1) | &3

) ARR® 57
(3) FIAEE §F

) AMIH-GamA® &

Options:-

«1, Option ID :- 169,

« 2, Option ID :- 170,

« 3, Option ID :- 171,

« 4, Option ID :- 172,

Answer Given:- 4, Option ID : -172

Question ID:- 44



‘Phonology” refers to

(1) Creating the sounds of speech in early childhood
(2) Creating the potential of ‘touch” sensors

(3)  “Smell’ receptors in childhood

(4) ‘Hearing’ sensation developed in hild

"R fogra’ =1 wregd FAeifeea § @ a2
(1) RE SieTsa | o w&fd &1 goid
(2) ‘T’ FARRAT Y AHa w1 geA

(3) ~reaEe § urr @mfed

(4) ‘a=rers | fawfaa gam’ gad dag

Options:-

.1, Option ID :- 173,

« 2, Option ID :- 174,

« 3, Option ID :- 175,

« 4, Option ID :- 176,

Answer Given:- 1, Option ID : -173
Question ID:- 45

The power of ‘imagination’ increases among ?
(1)  Adolescents

(2) Children

(3) Senior citizens

(4) Adults

‘Foqr’ o, fAeifra 8 @ fra agd 22

(1) fwer

(2) <S5

(3) aR3 Arfes

(4) 9I=
Options:-

«1, Option ID :- 177,
« 2, Option ID :- 178,
« 3, Option ID :- 179,
« 4, Option ID :- 180,
Answer Given:- 2, Option ID : -178

Question ID:- 46



As a teacher what should you do to address adolescent child in class
(1)  Active listening to them

(2) Reprimand them

(3) Moral policing

(4) Fix accountability

NS & &Y H oY Heh J fHoR o 1 gwensdi & Harw & fau =1 £ & gaE 32
(1) 391 914 & |iha &Y € A0

(2) I% A

3) Afqe ydaam

(4) SEERd fFuifE
Options:-

.1, Option ID :- 181,

« 2, Option ID :- 182,

« 3, Option ID :- 183,

« 4, Option ID :- 184,

Answer Given:- 3, Option ID : -183
Question ID:- 47

Which one of the following chemicals is active in adolescents ?
(1) Enzymes

(2) Hormones

(3) Proteins

(4) Fats

fereieren d, freifera § A SH-91 EE 9fFT @A e ?

(1) U~iH
(2) ®EA
(3) WA
(4) <&
Options:-

«1, Option ID :- 185,
« 2, Option ID :- 186,
« 3, Option ID :- 187,
« 4, Option ID :- 188,
Answer Given:- 2, Option ID : -186

Question ID:- 48



What is the role of ‘School” in educating the child ?
(I) Conducting exams and declare results in time
(2) To teach well all subjects

(3) Transformation of the child

(4) To promote discipline among children

T o fofia e A wma’ @ g €7

(1) g0 AR T SR 997 T e uftoms &) son
(2) @it fawai =1 I95 syeATaR

(3) TcTh T BYAY]

(4) ST § STINEA I S@TE1 <Al

Options:-

.1, Option ID :- 189,

« 2, Option ID :- 190,

« 3, Option ID :- 191,

« 4, Option ID :- 192,
Answer Given:- 3, Option ID : -191

Question ID:- 49

Name the programme launched in all schoo s to create awareness on adolescence.
(1)  Adolescence Education Programme

(2) Adult Education Programme

(3) Adolescent Education Project

(4) Adolescent Education Policy

freuaen F IR 9 Infd 3= A & fou ot foamadl d g fre o sdeey o1 @ A9 § 2
(1) Tremuaeen Rrn wedwa

(2) g faEn Friws

(3) fReR faen af@s

(4) Frur faan Tifa
Options:-

«1, Option ID :- 193,
« 2, Option ID :- 194,
« 3, Option ID :- 195,
« 4, Option ID :- 196,
Answer Given:- 1, Option ID : -193

Question ID:- 50



Why many schools are struggling to address the issue of Juvenile delinquency ?
(I) Red tapism in administration

(2) Lack of awareness

{3) Due to lack of professional experts in schools

(4) Due to lack of funds

gd A foaad # fRuR sty @ s 3 fon 58 ded A Ts @ 8 2
(1) 9oEd 9 et Harene!

(2) SIS S A

3) fagmd § syeuifas fdvgar F 1w & Frw

(4) it =t %1 % FRm

Options:-

«1, Option ID :- 197,

« 2, Option ID :- 198,

« 3, Option ID :- 199,

« 4, Option ID :- 200,

Answer Given:- 3, Option ID : -199
Question ID:- 51

Why the child should go to school for education ?

(1) Promotion of discipline is possible in school.

(2) Peer learning and socialisation takes place only in school.
(3) Subject teachers are available nly in school.

(4) School activities help in learning.

aTcTeh bl i 3 oI faamers ai s =nfga ?
(1) famem 9 oA & dadq dym 21

(2) THT Aftrm R AHSiaRY 1 FE Had famea § § Fa 2
3) fawa & foers haa faaem & @ uasy 8@ €
(4) fazmerm % FEwaw F Aftrm o gagar faed €)

Options:-

«1, Option ID :- 201,

« 2, Option ID :- 202,

« 3, Option ID :- 203,

« 4, Option ID :- 204,

Answer Given:- 4, Option ID : -204

Question ID:- 52



What is early sign of cognitive development in child ?
(1) Able to gain muscle control

(2) Able to feel emotions

(3) Answering most of ‘Why’ questions

(4) Shows attitudes in family.

s U GAFIcA® o 1 - dhas #n 2
(1)  9eg 83w o8 & ) &

(2) HaTM R HEGH HA I FHA

(3) afereRe ‘i A YAl F I A

(4) T8 YRER ¥ 3R 1 Y<IH T §

Options:-

.1, Option ID :- 205,

« 2, Option ID :- 206,

« 3, Option ID :- 207,

« 4, Option ID :- 208,

Answer Given:- 1, Option ID : -205
Question ID:- 53

The child’s ‘Social Awareness’ falls under :
(1)  Social learning

(2) Socio - emotional learning

(3) Emotional learning
(4)

N

Cogniti e learning

e 1 amfeF Srewdr’ FEfafad § 3 fegs ofaiq o 82
(1) @S At

(2) HEfsh dameEs Ay

(3) Tameas 3fnm

(4) HIFIA® AfEm

Options:-

«1, Option ID :- 209,

« 2, Option ID :- 210,

« 3, Option ID :- 211,

« 4, Option ID :- 212,

Answer Given:- 1, Option ID : -209

Question ID:- 54



One of the following could be due to cognitive delay in child :
(1)  Shivering of the body

(2) Low vision

(3) Hearing impairment

(

4) Dyslexia

a9 B GaATEF faag 3 fada & #rv, AEifwd 9 9 HH9-91 TR S0 @ g6 272
(1) ¥R H G

(2) 319 g

(3) FIu fA: 95

(4) Fewmiferm
Options:-

«1, Option ID :- 213,

« 2, Option ID :- 214,

« 3, Option ID :- 215,

« 4, Option ID :- 216,

Answer Given:- 4, Option ID : -216
Question ID:- 55

‘Hero-worship’ is quite common in :
(1)  Senior citizen

(2) Adult

(3) Adolescents

(4) Children

‘e o’ fAmifeed § 9, fFE Sn9dR W faaem @ R 2

(1) o i
(2) 93%

(3) fwum

(4) FAF
Options:-

«1, Option ID :- 217,
« 2, Option ID :- 218,
« 3, Option ID :- 219,

« 4, Option ID :- 220,
Answer Given:- 1, Option ID : -217

Subject : UTL_Q56-Q70_PRT26FEBSH2

Question ID:- 56



Who proposed "Operant Conditioning’ theory of learning ?
(1) Gestait

(2) B.F. Skinner

(3) Thorndike

(4) Pavlov

sifrm < Wik e fagia’ & sfaucs & 9 2

(1) =

(2) i T fa

(3) diHeE®

(4) A
Options:-

«1, Option ID :- 221,

« 2, Option ID :- 222,

« 3, Option ID :- 223,

« 4, Option ID :- 224,

Answer Given:- 1, Option ID : -221
Question ID:- 57

How the classroom teacher can impart Behaviouristic method in learning ?
(1)  Drill and practice

(2) Visual tools

(3)  Self - exploration

(4) Discovery method

HE H g, Fifrd § @ R yEr afarm 8§ syagrates fafy @1 9@ S 9ear €2
(1) BEH J3vTH 3R 37999 & g™

(2) T S & HeEH Y

(3) ARH-TAYY % HAR H

(4) @ fafy* g g

Options:-

«1, Option ID :- 225,

« 2, Option ID :- 226,

« 3, Option ID :- 227,

« 4, Option ID :- 228,

Answer Given:- 1, Option ID : -225

Question ID:- 58



Maximising potential of Brain occurs in :
(1) Behaviourism

(2) Constructivism
3

(

4) Conne tivism

Cognitivism

nfeger Ft aar 1 2ty faog feifea § 9 fead 2ar 82

(1) ™FERAR
(2) WAER
(3)  HIATHBAER
(4) WHBAR
Options:-

.1, Option ID :- 229,

« 2, Option ID :- 230,

« 3, Option ID :- 231,

« 4, Option ID :- 232,

Answer Given:- 2, Option ID : -230
Question ID:- 59

Which one of the following ould be the best method of learning ?
(1)  Visual learning

(2) Auditory learning

(3) Experiential learning

(4) Natural learning

Freiferd 3 4 @ SfrE # gaten fafy @ wwd 37

(1) gwEE Ay
(2) I T

(3) gufas aifmm
(4) Aufitm sfrm
Options:-

«1, Option ID :- 233,
« 2, Option ID :- 234,
« 3, Option ID :- 235,
« 4, Option ID :- 236,
Answer Given:- 3, Option ID : -235

Question ID:- 60



How ‘learning’ could be enhanced in classroom ?

(1)
(2)
3)
(4)

Lecture method
Modern ICT t ols
Demonstration

Group discu sion

e 3 i’ 1 fawm F9 o s 9w €2

=reA fafy

Y A JR FER WfH) Iuh
LCAE

e formed

Options:-

«1, Option ID :- 237,
« 2, Option ID :- 238,
« 3, Option ID :- 239,

« 4, Option ID :- 240,
Answer Given:- 4, Option ID : -240

Question ID:- 61

What is major challenge for a teacher in classroom in present context ?

(1)

Flip learning of child
Distortions
Indiscipline

To sustain Interest among learners

991 Gee H, He H q=NuS & guy F=ifed § 9 0 9 A | 2

(M
(2)
(3)
(4)

ardenl o foere @0 =1 wgfe

fawuy

HTNEARAA

stfenmehaia?l § €9l A0 FAC TG

Options:-

«1, Option ID :- 241,
« 2, Option ID :- 242,
« 3, Option ID :- 243,

« 4, Option ID :- 244,
Answer Given:- 4, Option ID : -244

Question ID:- 62



What is the major challenge of ICT usage in rural schools ?
(1)  Under motivated staff and students

(2) Management hesitates to spend amount on ICT tools
(3) Uninterrupted power supply and weak Internet

(4) Lack of awarenes

o &5 3 sTafer faaed § gEar ok F9r dehfie suael % wEm ) 1 98 HdG e 2

(1) e9-9fa sa=r sk faened

(2) WA, A IR FER D1 F uwl R e o £33 A fewkeaam @

(3) Freiy fagga-smyfd oiR sz ®1 e & B
)

(4) SIPTESA Sl AYE

Options:-

«1, Option ID :- 245,

« 2, Option ID :- 246,

« 3, Option ID :- 247,

« 4, Option ID :- 248,

Answer Given:- 1, Option ID : -245
Question ID:- 63

Which one of the following is the example of Auditory instructional material in classroom ?
(1) Radio

(2) Television

(3) Chart

(4) 3 D model

freiferd § |/, 0 Fa 9 F4 IS FHHH H TR G ?

(1) e

(2) <difasA

3) =

(4) Fa-3mamHl wied
Options:-

«1, Option ID :- 249,
« 2, Option ID :- 250,
« 3, Option ID :- 251,
« 4, Option ID :- 252,
Answer Given:- 1, Option ID : -249

Question ID:- 64



When a child visits Local ‘Zoo’, the learning could be ?
(1) Project based learning

(2) Experiential learning

(3) Collaborative learning

(4) Natural learning

S HE-arere e fafeamy’ w1 < w97 Hfwm @ W e
(1) ufism Fefa s

(2) 3gufas fum

(3) wewfidicEs rfam
(4) Aufifs sfrmy
Options:-

«1, Option ID :- 253,

« 2, Option ID :- 254,

« 3, Option ID :- 255,

« 4, Option ID :- 256,

Answer Given:- 2, Option ID : -254
Question ID:- 65

What is ‘Hidden curriculum’ in school ?

(1) Learning during free periods

(2) Learning values and beliefs beyond Text book and curriculum through Informal means
(°) Learning in library

(4) Learning in laboratory

faa@al 4 ‘ syhe wre=a @ %2

(1) @ difege § sty

(2) URE-TKE IR ueagAt % sifafea e grerdl 9 gl o sraaedi o i
(3) e § sifirm

(4) g § sfrm

Options:-

.1, Option ID :- 257,

« 2, Option ID :- 258,

« 3, Option ID :- 259,

« 4, Option ID :- 260,

Answer Given:- 2, Option ID : -258

Question ID:- 66



How the teacher should design classrcom instruction ?

(1) Well decorated classroom

(2) Full of A.V. Aids

(3) Should design in such a way that it would achieve desired learning outcomes

(4) Humourous teaching

1Y ot hal § Tao 1 31fiehey HQ T4 Ffgu ?
(1) gafSa sa

(2) o9 %9 GHNTH FEA
(3) 3T Afhed 39 UHR W 54 S =feC o 5oy aifed aifinm fomt ) wie & 9%
(4) erE-feaRigqy ST

Options:-

«1, Option ID :- 261,

« 2, Option ID :- 262,

« 3, Option ID :- 263,

« 4, Option ID :- 264,

Answer Given:- 3, Option ID : -263
Question ID:- 67

Which one of the following will have positive effect on learning ?
(1) Well ventilated classroom

(2) ICT Teols

(3) Good friends

(4) Socio - emotonal support from teachers

freifera § 4, frgs S\ | 9FRIeH g9E gem ?
(1) 3ITH aAEATH H

(2) I R ER Wi & IgH

(3) = fo

(4) HeNUH § gERIH dAmAF TE

Options:-

«1, Option ID :- 265,

« 2, Option ID :- 266,

« 3, Option ID :- 267,

« 4, Option ID :- 268,

Answer Given:- 1, Option ID : -265

Question ID:- 68



What is the advantage of student teacher positive relationship in classroom ?
(1) It leads to happy feeling.

(2)
(3) Student will take advantage.
(4) Parents feel happy.

It improves student behaviour leading to academic excellerv e.

eyl o faenefi-319s F 9oy HRIAH G4 H1 31 @1 ¢ 2

(1) 3Th FoRAEY EE TEHH Tl ¢

(2) 3% worawy famnel % s7aer ¥ guR g & foad Sefors sepear ot 7
(3) faenedi =i 5 @y faerm

(4) T A A @A

Options:-

«1, Option ID :- 269,

« 2, Option ID :- 270,

« 3, Option ID :- 271,

« 4, Option ID :- 272,

Answer Given:- 2, Option ID : -270
Question ID:- 69

‘Problem - solving’ approach is normaily attributed to :
(I) experimentalism

(2) cognitivism
(3) connectivism
(4) constructivism

" HE-EHIE U S e ©

(1) AR

(2) HIAIHHAER
(3) HHEHAR

(4 w@AER
Options:-

.1, Option ID :- 273,
« 2, Option ID :- 274,
« 3, Option ID :- 275,
« 4, Option ID :- 276,
Answer Given:- 1, Option ID : -273

Question ID:- 70



Why is ‘discipline” important to learning ?
(1) Promotes relationship

(2) Enc urages honesty

(3) Discipline promotes concentration and punctuality

(4) Enhances learning

s1fnm & fou ‘ sigemea’ @l weaEqel & 82

(1) 399 G4 F e fodar )

(2) TR AR W ag@ e 7

(3) STMEA { wwIA 3R wmafEar H1 GaHT AT F
(4) 3% FoEEy Ifwm F gfg dd &

Options:-

.1, Option ID :- 277,
« 2, Option ID :- 278,
. 3, Option ID :- 279,

« 4, Option ID :- 280,
Answer Given:- 3, Option ID : -279

Subject : CCLE_Q71-Q80_PRT26FEBSH2
Question ID:- 71

What is ADHD ?

(1)  Attention Deficit Hyper Disability

(2) Attention Deficit Hyperactivity Disorder
(3) Attention Deficit High Disorder

(4) Attendance Deficient High Disorder

LA AR IS I 2 T D R
(1) 3% efFfae e fedfacid
(2) T fpfFe gEw fafadl feqaiiex
(3) A fRfge o8 femeiieR
(4) 32w Sfrfadz 36 femaiiér
Options:-
.1, Option ID :- 281,
« 2, Option ID :- 282,
« 3, Option ID :- 283,

« 4, Option ID :- 284,
Answer Given:- 1, Option ID : -281

Question ID:- 72



What is "‘Dyspraxia’ ?

(1) Difficulty in speech

(2) Difficulty in muscle movement
(3) Inability to see

(4) Inability to identify numbers

‘Feuifermar’ 4 7 syl & 2

(1) & ¥ Hfga

(2) Ui §9 W A

(3) 3 IFcA

(4) HEST I Yg=E A H emdl

Options:-

.1, Option ID :- 285,

« 2, Option ID :- 286,

« 3, Option ID :- 287,

« 4, Option ID :- 288,

Answer Given:- 2, Option ID : -286
Question ID:- 73

Which one of the following is example for Ir tellectual disability ?
(1) Locomotor impairment

(2

)  Autism
(3) Hearing impairment
(4)

4 Low vision

Fraifrd B & a1 Sifgss A or6ar o1 STeew 8 2
(1) Haad fordar
(2) 3ife
(3) Fau o
4) g
Options:-
«1, Option ID :- 289,
« 2, Option ID :- 290,
« 3, Option ID :- 291,

« 4, Option ID :- 292,
Answer Given:- 1, Option ID : -289

Question ID:- 74



What is ‘Microcephaly’ with regard te mental health ?
(1)  Small Head

(2) Large Head

(3) Protruding Eye Balls

(4) Small eyes

gHfa® @ F ey 1 asifaeel’ = g2

Options:-

.1, Option ID :- 293,

« 2, Option ID :- 294,

« 3, Option ID :- 295,

« 4, Option ID :- 296,

Answer Given:- 1, Option ID : -293
Question ID:- 75

Which one of the foliowing ould be an early sign of mental illness among children ?

(1) Poor attendance

(2) Low marks/grades

(3) Attention deficit
)

(4) Passive learning

fA=ifrd 9 T @ s § gafges &uar & 39 Hhdes &) Hehdr & ?

Options:-

«1, Option ID :- 297,

« 2, Option ID :- 298,

« 3, Option ID :- 299,

« 4, Option ID :- 300,

Answer Given:- 4, Option ID : -300

Question ID:- 76



‘Severe’ Mental Retardation indicate the 1.Q range of _
(1) 35-40

(2) 20-35
(3) 45-55
(4)  40-50

i A fares # ferfa d Sfs s m mm da &
(1) 35-40
(2) 20-35
(3) 45-55
(4) 40-50

Options:-

.1, Option ID :- 301,

« 2, Option ID :- 302,

« 3, Option ID :- 303,

« 4, Option ID :- 304,

Answer Given:- 1, Option ID : -301
Question ID:- 77

If any body part is lost, it is known as
(1) Impairment

(2) Disorder

(3) Disability

(4) Handicap

IfE IR T $13 A 98 A A1 T, A qE FHIA ®
(1) Ao (3RHe)

(2) fasr
(3) feaarm (feafsfad)
(4) famemE (FEFT)

Options:-

«1, Option ID :- 305,

« 2, Option ID :- 306,

« 3, Option ID :- 307,

« 4, Option ID :- 308,

Answer Given:- 1, Option ID : -305

Question ID:- 78



What is the basic principle of ounselling in schools ?
(I) Data collection

(2) Acceptance

(3) Empirical evidence

(4) Co peration

fraraal 8 wrast =1 gt fagia #n &2
(1) & qUeW

(2) @isfa

(3) wrEfieh |y

(4) &

Options:-

.1, Option ID :- 309,

« 2, Option ID :- 310,

« 3, Option ID :- 311,

« 4, Option ID :- 312,

Answer Given:- 4, Option ID : -312
Question ID:- 79

The learning acquired in community is commonly known as
(1) Nonformal learning

(2) Formal learning

(3) Informal learnihg

(4) Natural learning

e H Afsia sty g 9 W HEAE
(1) she=nfes sfom

(2) i st

(3) -sfu=fed wfarm

(4) FufieR afam

Options:-

.1, Option ID :- 313,

« 2, Option ID :- 314,

« 3, Option ID :- 315,

« 4, Option ID :- 316,

Answer Given:- 1, Option ID : -313

Question ID:- 80



Why do primary teachers find difficult to teach small children ?

(1) Increased naughtiness

(2) Immaturity
(3) Low attention span
(4) Too many distortions

e fae-fofaeped =) 81 S & 31wy § #=if Hieis o 8 2
(1) ¥ T RRA

(2) StuRuaad

(3) HH G9I d AH &A1

(4) wgd A= fawqm

Options:-

.1, Option ID :- 317,
« 2, Option ID :- 318,
« 3, Option ID :- 319,

« 4, Option ID :- 320,
Answer Given:- 3, Option ID : -319

Subject : SOL_Q81-Q90_PRT26FEBSH2
Question ID:- 81

Which one of the following factor could enhance the efficiency of teachers in school ?
(1) Personal motivatien of Principal

(2) Good salary

(3) Negative feedback by children

(4) Non monetary incentives

facifea o A fag +ra F woa®y fagaraa 4 sl 9 agar § Afigfg doi 2
(1) =@ H Jafs A
2) 3I9H I
)  SIThl g ARITES gfagfe
4) TR Aifgw NEEA

Options:-

.1, Option ID :- 321,

« 2, Option ID :- 322,

« 3, Option ID :- 323,

« 4, Option ID :- 324,

Answer Given:- 2, Option ID : -322

Question ID:- 82



Which one of the following leadership is often criticized ?
(1) Laissez - Faire leadership
(2) Participatory leadership

(3) Authoritative leadership
(4)

4) Democratic leadership

FquA feifed 9 A 51 g9 S 1 sis=a1 i 9§02

(1) IEEHY A9

(2) HRIA AFA

(3) fuTIHad) Aga

(4) cliFaif® A
Options:-

.1, Option ID :- 325,

« 2, Option ID :- 326,

« 3, Option ID :- 327,

« 4, Option ID :- 328,

Answer Given:- 1, Option ID : -325
Question ID:- 83

The success of school depends mostly on :
(1)  Financial resources

(2) Dynamic and vibrant leadership
(3) Effident teachers

(4) Disciplined students

faemea = awaa SFRE feg W AR 3 22
(1) foxita g=eA

(2) TAEF AR A& AgS

(3) $A FATTR

(4)  ATeRAd fanef

Options:-

«1, Option ID :- 329,

« 2, Option ID :- 330,

« 3, Option ID :- 331,

« 4, Option ID :- 332,

Answer Given:- 2, Option ID : -330

Question ID:- 84



What is the role of School Development Plan ?

(1) Academic excellence

(2) Effective and optimum utilization of resources
(3) Promote discipline

(4) Plan for future needs

foenaa fasrm@ arsmn 1 = fam &2
(1) Jefors sF=d

(2) FEHA W q9E] R TEdE YA
(3) SIILIHA =l FET AT

(4) el SNEIAHA HI A

Options:-

.1, Option ID :- 333,

« 2, Option ID :- 334,

« 3, Option ID :- 335,

« 4, Option ID :- 336,

Answer Given:- 2, Option ID : -334
Question ID:- 85

Which one of the following is an essential principle of Time-table in schools ?
(1) Principle of leisure

(2) Principle of justi e

(3) Principle of focus

(4) Principle of security

famifrd 9 § 731 Wl 3 T99-gRvl <1 far faga § 2
(1) T % T9d l fagid

(2) = = fagd

(3) s @ fagid

(4) e H fagE
Options:-

«1, Option ID :- 337,
« 2, Option ID :- 338,
« 3, Option ID :- 339,
« 4, Option ID :- 340,
Answer Given:- 3, Option ID : -339

Question ID:- 86



Parents Teachers Association (PTA) plays a crucial role in :
(1)  Fund mobilisation

(2) All round development of school

(3) Organizing Community Programmes

(4) Child" development

frafafad 9 A frad sfuwes s 99 (0 A ©) =1 FAoias sfaw e 82

(1) fAfei speA

(2) TaeneE = watim fawm

(3) HqaIfa® Frdwdl & SESH
(4) @t = fawE

Options:-

.1, Option ID :- 341,

« 2, Option ID :- 342,

« 3, Option ID :- 343,

« 4, Option ID :- 344,

Answer Given:- 2, Option ID : -342
Question ID:- 87

Which one of the following factors enhances learning in classroom ?
(1)  Well ventlated classrooms

(2) Socio-emotional support from tea ers

(3) ICT tools

(4) Low student enrolment

frmiferd § & fras waasa #u 9 sfm § gfg &t § 2
(1) 3ITH AT arell e
(2) FFEATYH] A 3R § HAfGH- A meaw ggEm
(3) AT 3R HaR wafirm & Iuwm
(4) Toenferd & amisa 9 5
Options:-
«1, Option ID :- 345,
« 2, Option ID :- 346,

« 3, Option ID :- 347,

« 4, Option ID :- 348,
Answer Given:- 2, Option ID : -346

Question ID:- 88



The learning is influenced by

(1) Heredity and Environment
(2) Home

(3) Family

(4) Teacher’ Personality

sfirm fa=ifera § § frad yafaq d@m R 2
(1) Aafas R amaw

(2 T’

(3) ufEw

(4) EMUR H1 AfddT

Options:-

.1, Option ID :- 349,

« 2, Option ID :- 350,

« 3, Option ID :- 351,

« 4, Option ID :- 352,

Answer Given:- 1, Option ID : -349
Question ID:- 89

Which one of the following would enhance learning in classreom ?
(1) Powerful lecture

(2) Good handwriting of teacher

(3) Charts/Models

(4) Modern ICT tools

frerifra 4 Q frgsh wa@se Fa 9 ftnm § gfg &t ?
(1) 9uE A=A
(2) FeAUS it I8 fawEe
(3) =/HEd
(4) gFHS g ik FER dafial % suwm
Options:-
«1, Option ID :- 353,
« 2, Option ID :- 354,

« 3, Option ID :- 355,

« 4, Option ID :- 356,
Answer Given:- 4, Option ID : -356

Question ID:- 90



How could community promote learning ?

(1) Through public speech

(2) Through community surveys undertaken by students
(3) Through parents

(4) Through teachers

T oy AT Y TgE { wehd § 2

(1) o ATAA & 99 4§

(2) foenffal g foru o aret aggifas gdem & mer 9
(3) wrdI-fuan = "

(4) TR & HIETH Y

Options:-

.1, Option ID :- 357,
« 2, Option ID :- 358,
« 3, Option ID :- 359,

« 4, Option ID :- 360,
Answer Given:- 2, Option ID : -358

Subject : PE_Q91-Q100_PRT26FEBSH2

Question ID:- 91

What is the major recommendation of NCF - 2005 in school education ?
(I) Teacher training

(2) vocationalisation

(3) Flexible Examination syste

(4) Skill development

el foa H Ui wiemEEt ®R@-2005 # wyE fawf@ an g

(1) foaw wfoeo
(2) ToEn = HEATRH
(3)  CT=ich G Y
(4) Hd fam™
Options:-

.1, Option ID :- 361,
« 2, Option ID :- 362,
« 3, Option ID :- 363,
« 4, Option ID :- 364,
Answer Given:- 3, Option ID : -363

Question ID:- 92



According to NCF-2005, the teacher in classroom is

(1) Leader

(2) Fadlitator

(3) Motivator

(4) Guide and philosopher

TS NISEEl ®Y W 2005 % STUR FE T HATS B E
(1) =

(2) Hfaumyeran
(3) U
(4) urieds iR gEfis

Options:-

«1, Option ID :- 365,

« 2, Option ID :- 366,

« 3, Option ID :- 367,

« 4, Option ID :- 368,

Answer Given:- 4, Option ID : -368

Question ID:- 93

Basic Education aimed at :
(1) Basic Arts

(2)

(3) Mother tongue
(4)

Basic crafts

Primary Education

gfais) foren = R g
(1)  dFAm@ (qavd) wen
2) sFFE ey
(3) HIgH™
(4) Hrafas faan
Options:-

«1, Option ID :- 369,
« 2, Option ID :- 370,
« 3, Option ID :- 371,
« 4, Option ID :- 372,
Answer Given:- 3, Option ID : -371

Question ID:- 94



According to NEP-2020, what is the minimum age to admit in formal school ?

(1) 6 Years
(2) 5 Years
(3) 4 Years
(4) 3 Years

vy e Hifd, 2020 % FHFER sig=nfw e o8 A F e faa@a 3§ gau #1 FEas o1y faa 8 2

(1) 6499
(2) 599
(3) 499
(4) 39
Options:-

.1, Option ID :- 373,

« 2, Option ID :- 374,

« 3, Option ID :- 375,

« 4, Option ID :- 376,

Answer Given:- 2, Option ID : -374
Question ID:- 95

NEP,2020 modified Education Pattern in school as
(1) 5+3+3+4

(2) 10+3+2
(3) 5+3+4+3
(4) 6+2+3+4

2y faen =ifa, 2020 F faenerdl § waiafa foen #1 wfaeq £

(1) 5+3+3+4
(2)  10+3+2
(3) 5+3+4+3

(4)  6+2+3+4

Options:-

«1, Option ID :- 377,

« 2, Option ID :- 378,

« 3, Option ID :- 379,

« 4, Option ID :- 380,

Answer Given:- 1, Option ID : -377

Question ID:- 96



’Lean’u'ng without Burden’ suggested by
(1) NCF-2005

(2) NCERT
(3) CBSE
(4) NCPCR

‘S Wed 1f’ w1 e FA=ifed 8 & g g fem wan an?

(1) TEF gFa=al 7@, 2005
(2) T HL I AR A

(3) .8 uE e

(4) T H. 9. 3R
Options:-

.1, Option ID :- 381,

« 2, Option ID :- 382,

« 3, Option ID :- 383,

« 4, Option ID :- 384,

Answer Given:- 1, Option ID : -381
Question ID:- 97

Which one of the following Articles in constitution specified that the children below 14 years
should get free and compulsory Education ?

(1)  Article 48
2)  Article 50
3) Axticle 45

(
(
(4)  Article 54

WA A § R sgeg § Swey fEm e € e 14 9 @ AR A o9y F S B fges i
sifard foen § S = few

(1) &HT=R 48

(2) 3IT=R 50

(3) HTWT 45

(4) HIWT 54
Options:-
.1, Option ID :- 385,
« 2, Option ID :- 386,
« 3, Option ID :- 387,

« 4, Option ID :- 388,
Answer Given:- 3, Option ID : -387

Question ID:- 98



Name the body to lookafter the rights of children in India ?

(I) CRY [Child Rights and Yeu]

(2) Department of Child Welfare Govt. of India

(3) NCPCR [National Commission to Protection of Child Rights]
(4) CHF [Child Help Foundation]

YR § Fh] o R ) @-1E FA arel Heam fAeifmg § 4 FR-@ R
(1) HI. AR, 918, (Ar3es V3T WE §)

(2) ST HeA fgum, YR §EHER

(3) TA. H. d. H. AR (W T SRR Hw

(4) . U= U (SEeE Y FHISUA)

Options:-

.1, Option ID :- 389,

« 2, Option ID :- 390,

« 3, Option ID :- 391,

« 4, Option ID :- 392,

Answer Given:- 3, Option ID : -391
Question ID:- 99

What do you mean by, Competency Based Learning, ?

(1) Proficiency in communication

(2) Proficiency in language

(3) Attaining proficiency in Particular competency in each subject
(4) Learner, centric approach

‘Tyar-3enfia s’ { aaaR & ared © 2

(1) 997§ Haiom

(2) T H gEiora

3) v fawa | foreht faiy sfugman § gdlomn wra
(4) furmal Ff=g s

Options:-

«1, Option ID :- 393,

« 2, Option ID :- 394,

« 3, Option ID :- 395,

« 4, Option ID :- 396,

Answer Given:- 3, Option ID : -395

Question ID:- 100



According to Educationists the Informal learning is
(1)  School specific activity

(2) Time - bound activity

(3) Life-long Activity

(4) Pre-planned activity

forapfadi 2 a1 f-sfiuanfas sifirm &
(1) Tagem fafas seiwam

(2) FFI-95 HEHAY

(3) Shad v wriway

(4) vd AT Fdwan

Options:-

«1, Option ID :- 397,
« 2, Option ID :- 398,
« 3, Option ID :- 399,

« 4, Option ID :- 400,
Answer Given:- 1, Option ID : -397

Subject : HINDI_Q101-Q120_PRT26FEBSH2

Question ID:- 101

FeAfefaa Tove @ @ArYEE Tget SAW MR U9 T Telah I ST ¢

wifefas wrag 4 AR ded gfe d ueivia gu-g@ gu-fawe Iem-vad anfz fadedt aen
faqdia sral @ GHiHI0 qe Toh Aledifhsh S H 39 faelld & 9H § &1 @ifecd & fordlt 391 i1 o/t
efan, w7 o€t wuaa fea M1 9RdE sl 9 @ 9@ ik g@ % yod yfaud femre mu €, W e
HAEH 3ER § B fFm 70 ¥ R 9T FM 7R § R 9 1 O w91 @ Sfiad 6 aney @Ey
S9FETd HTH ITHT ool FgH 37 3Y 390 1 BT @ & | 09 Rafd 3 3qe1 391 |8y 781 § foa,
wfeasy &1 Hurer 3Af A ¥ 1 a9 e JAdE €0 F gaid Ao sHif e A ued ¥ 3 siwee 19
e femE qed ot ¥ @19 urdig 3Ry ¥ ¥ 3l ity snedt & s ur €

9RdrE el | femm T
(1) o q@

(2) <had §H

(3) Y@-5E & W

(4) YE@-3Q@ H gy Waud

Options:-

.1, Option ID :- 401,
« 2, Option ID :- 402,
« 3, Option ID :- 403,

« 4, Option ID :- 404,
Answer Given:- 4, Option ID : -404



Question ID:- 102

frefafaa Tie @ @rgEs Tgwt IHW muifa uvA &1 wés W e

aifefas w=a 4 ea) dod ey 9 9eivia gE-g@ sd-fawe s@m@-vad sz fageh qen
fauda sial & GHEiwI ag1 T SAledifhad g 9 34 faoa @ o § €)1 aife & fd) sfw = o
<fau, gdf= 7€) gy fg@s 3m urd Aesi 9 § g ik g@ & yew wfguE feare e € W ges
HIGA 3ER | 8w o d ) 3 yuE R 7 ¢ T vRdrl & o H9 Q Sied gy @Ey
Jufeerd hieh IHhT IRy @[ 3R 3 IFd 59 I W@ ) 99 frafa | IHem 31 G5y 7867 & foaT
ufgey ) dured 3Hf A %1 g9 T8 AW €0 F gEid e sHifde foard € wed ¥ afe sieswa 1]
e fewE qed ot ¥, 919 9Rdrg 3Ry ¥ g7 3l AT sneyf S s T §

(1) SNed 1 %had ARY =Y IYferd HEA |
2)  Siied 1 IhY ST
3) Sffed & 3Ad S

)
4)  Sfig3 H ACIEEY YRS hich, IHH IchY FFIH Y 3T F77T|

(
(
(
Options:-

.1, Option ID :- 405,

« 2, Option ID :- 406,

« 3, Option ID :- 407,

« 4, Option ID :- 408,

Answer Given:- 4, Option ID : -408

Question ID:- 103

Frefafaa T & argdE Tt AW JYTRE U9 T Welah It U

Hifgfos @999 4 e aed dife § yefvid ge-g@ ed-faue Sem-vad snfe fawreft qen
fagdta wral & G qen T Aledifhs sTHg | 39 faei @ o § 1 aifec & foredt o991 =l e
efan, g7 7€t gua7 famrs m1 wd el § @ g ik ge F yod wfgurd femme o §, W e
HIAA 3ER | & 7 €1 3w yaE R g € TR 9RdAl 1 o |19 | Sied 1 aey @
sqfed HTh ST bl TgH 3R 3T 3T 99 61 @ 81 F99 Rafd 3 39a 371 dey 7 & foam,
afes & Hured ST A &1 BRI T JA0 €U % g@id A sEif g femd A€ wed €)1 4fe st 19
A1z femd ved o ¥, 91 9 W ey F g 3R gl oneyl & s Wi §

GE-T@ & Yo I A FaHH YR Aieeht W fFE e
(1) Q@[+

(2) FE-gE[H

(3) TEHH

(4) FEgH
Options:-
«1, Option ID :- 409,

« 2, Option ID :- 410,
. 3, Option ID :- 411,



« 4, Option ID :- 412,
Answer Given:- 4, Option ID : -412

Question ID:- 104

Freafafaa T & argds Tt AW MUTRE v T Weld W ST

wifgfos qu=a ¥ e g gt 9 wefYid gE-g@ gd-fawe S@m-uad anfe fawe den
faudtq wral & GHIHI ag T SAlofifhad AMHg § 3 faeitq & om § 81 aife & vl aior =01 oo
efgu, wax 7€ guaa e 2w 9Rdm Al § @ g 3k g@ % yed afaue TE e E W gan
SEEA A | B fha 0 g1 SR YU FR0 W8 § fh aRdl @ e0g 1S fied W IRy @y
3ufeyd ih STH1 ShY @A iR 3 I 99 & B/ § | FI9F feafq 9 gt a1 Wey 76  foamn,
afger ) HoyreT 3Hf A ¥ 1 g9R Tl A 271 F g@Eid A s faard 78 ved €1 afe s 1)
e fowE qed ot ¥, 91 9 uRdrE vy I ¥ iR Ay sneed & svEw w §

mifefores quas § efimg §

(1) faed gt =1 adse

(2) fadiedt qen faudta ol o qHHRT

(3) fadieh qen faudia qai & g iR eiifoha g H 371 faciia g
(4) faeh a= w1 hae onHg | faera &

Options:-

.1, Option ID :- 413,

« 2, Option ID :- 414,

« 3, Option ID :- 415,

« 4, Option ID :- 416,

Answer Given:- 3, Option ID : -415

Question ID:- 105

Frefafaa maTe @ @rgEs gt AW IR UvT T Weld IR T

wiféfas aa=a 4 e ad afew d 9eiia gE-g@ gd-fawre, sm-vad anfg fadeh qen
faqdtq Wil & gHisht qe1 U iciifers g § 37 faofia & s 8§ 8 aifec & fanedt oot a0 ot
efgu, ga= 7€ g3 foms <m 9Rd Aewi § @ g ik g@ * e sfaue fTEe  E W e
AR A A &) 671 70 &1 SR WHH FRM F8 B fob ARG 1 AE WA H ST ARy @Ey
Iuferd Th ST Y F@H 3R 3 3Ad S 1 W 81 991 feafq 9 3aem 391 Sdy &1 & s,
wfas] ) HeT 391 4 81 gHR 7@ AW €0 % gaid e e fomr 7€ ved €1 af srewa 18
e fewd vea o § d1 9 WRA e W R ok A et & s 7 §

FHN 78 U 21 o g@id e few@ns &7 & wrm ©
(1) YAl ) 99 § 9iEd

(2) e § g@i 1 AW

(3) U 3meet 1 SIS iR i ey A g4
(4) RdE s @

Options:-
«1, Option ID :- 417,



« 2, Option ID :- 418,
« 3, Option ID :- 419,
« 4, Option ID :- 420,
Answer Given:- 3, Option ID : -419

Question ID:- 106

(1) T
(2) =HifEd
(3) afgH
(4) fawed
Options:-

.1, Option ID :- 421,
« 2, Option ID :- 422,
« 3, Option ID :- 423,
« 4, Option ID :- 424,
Answer Given:- 2, Option ID : -422

Question ID:- 107

(1) <erH
(2) TSTHA
(3)  UAFeen]
(4) TSIFHR
Options:-

«1, Option ID :- 425,
« 2, Option ID :- 426,
« 3, Option ID :- 427,
« 4, Option ID :- 428,
Answer Given:- 4, Option ID : -428

Question ID:- 108

Frafafad wsg i 3 dogg-dgya &1 3 I8 §

(1) R - JTS
2 % - Fg
(3) & - fegq
(.

4) wS - FE

Options:-

«1, Option ID :- 429,
« 2, Option ID :- 430,
« 3, Option ID :- 431,



« 4, Option ID :- 432,
Answer Given:- 3, Option ID : -431

Question ID:- 109

frfafaa facmel wse-gri § s/ma @

(1) &% - gfq

(2) 37EAd - wdd
(3) 3UF - =_A

(4) TFS - slaga
Options:-

.1, Option ID :- 433,
« 2, Option ID :- 434,
« 3, Option ID :- 435,

« 4, Option ID :- 436,
Answer Given:- 2, Option ID : -434

Question ID:- 110

fagiao @ d3 o3 § 39579 & -
) 2T - AR
(2) I -

(3) WeAl- 9o

(4) fa - =

Options:-

«1, Option ID :- 437,

« 2, Option ID :- 438,

« 3, Option ID :- 439,

« 4, Option ID :- 440,

Answer Given:- 4, Option ID : -440

Question ID:- 111

frfafma 5 | feg sg 4 fawl gfy =8 &2

(1) wer
(2) S¥MEA
3) freds
(4) TR
Options:-

.1, Option ID :- 441,
« 2, Option ID :- 442,
« 3, Option ID :- 443,

« 4, Option ID :- 444,
Answer Given:- 1, Option ID : -441



Question ID:- 112

' S T W U e T ey elialfE s 7s 3y §
(1) 3eHr Fft qura 981 e

(2) IR T A W 4t 3THFR I /A

(3) T HI g & HRW Qe FH T

(4) oifad SR § 99 7 eI

Options:-

.1, Option ID :- 445,

« 2, Option ID :- 446,

« 3, Option ID :- 447,

« 4, Option ID :- 448,

Answer Given:- 2, Option ID : -446

Question ID:- 113

fefifad § 3 i @ =731 e faun #1 &2

(1) T =t &

(2) <= Hi At

(3) WY U

(4) a8t =1 AW
Options:-

.1, Option ID :- 449,
« 2, Option ID :- 450,
. 3, Option ID :- 451,
« 4, Option ID :- 452,
Answer Given:- 1, Option ID : -449

Question ID:- 114

‘IE H T oAk FA Y AW R 9

(1) TS HHA

(2) TS fgurel

(3) TS % HRA

(4) T HEA
Options:-

«1, Option ID :- 453,
« 2, Option ID :- 454,
. 3, Option ID :- 455,
« 4, Option ID :- 456,
Answer Given:- 1, Option ID : -453

Question ID:- 115



‘gl 1 ufem HH ' = H g R mR e iR A i e @ 9
(1) o &7 YK o

(2) 9% 9gd e o

(3) =@ ufed %4l W o

(4) % IFHIA TH T A

Options:-

-1, Option ID :- 457,

« 2, Option ID :- 458,

« 3, Option ID :- 459,

« 4, Option ID :- 460,

Answer Given:- 1, Option ID : -457

Question ID:- 116

frfafaa 9 @ ‘2m =1 feare’ feMl & d@s §

() HPHR A

(2) TREwTE T=H

(3) wiarpER 99

(4) eERFW <H
Options:-

.1, Option ID :- 461,
« 2, Option ID :- 462,
« 3, Option ID :- 463,
« 4, Option ID :- 464,
Answer Given:- 1, Option ID : -461

Question ID:- 117

&8 W HEd ' & AR E
(T) ¥

(2) UHACA

(3) T3 < Qa=

(4)  HEH B
Options:-

.1, Option ID :- 465,
« 2, Option ID :- 466,
« 3, Option ID :- 467,
« 4, Option ID :- 468,
Answer Given:- 1, Option ID : -465

Question ID:- 118



O RETIIE

(2) foEE = sie

(3) foara =193

(4) four = A
Options:-

«1, Option ID :- 469,
« 2, Option ID :- 470,
« 3, Option ID :- 471,
« 4, Option ID :- 472,
Answer Given:- 1, Option ID : -469

Question ID:- 119

‘Faqel’ AW =1 Rafan g am A ]2

(1) Fufgg-1
(2) fEafgm-2
3) fEfgm-3
(4) Fafge-5
Options:-

.1, Option ID :- 473,
« 2, Option ID :- 474,
« 3, Option ID :- 475,
« 4, Option ID :- 476,
Answer Given:- 1, Option ID : -473

Question ID:- 120

‘yTe] A Wl FEaia’ T S YR W 9dBy F Te it 6 g4 § ¢ IR & =1 A9 Ry @1 9 A @+
forar?
(1) IR o= QIRe
(2) &@ ] 9T
) i gl | W % o= ki A9 o
(4) W& = H A+ weven #t

Options:-

.1, Option ID :- 477,
« 2, Option ID :- 478,
« 3, Option ID :- 479,

« 4, Option ID :- 480,
Answer Given:- 3, Option ID : -479

Subject : ENGLISH_Q121-Q140_PRT26FEBSH2

Question ID:- 121



Read the passage given below and answer the questions that follow :

You read history in books. But in old times, when man did not exist, surely no books
could have been written. How then can we find out what happened then? We cannot
merely sit down and imagine everything. This would be ver interesting for we could
imagine everything we wanted to and would thus make up the most beautiful fairy tales.
But this need not be true as it would not be based on any facts that we had seen. But
although we have no books written in those far-off days, fortunately we have some things
which tell us a great deal as well, almost as a bo k would. We have rocks and mountains
and seas and stars and rivers and deserts and fossils f old animals. These and other like
things are our books for the earth’s early story. And the real way to understand this story
is not merely to read about it in other people’s books but to go to the great Book of Nature
itself. You will, [ hope, soon begin to learn how to read this story from the rocks and
mountains. Imagine how fascinating it is !. Every little stone that you see lying on the road
or on the mountain side may be a little page in nature’s boek and may be able to tell you
something if you only knew how to read it. To be able to read any language, Hindi or
Urdu or English, you have to learn its alphabet. So also you must learn the alphabet of
nature before you can read her story in her books of stone and rock. E en aow perhaps
you know a little how to read this.

Why is the writer sceptical about fairy tales ?
(1) Because they are soon forgotten.

(2) Because they are not based on facts
(3) Because they have short life
(4) Because they are meant to be read by children.

Options:-

.1, Option ID :- 481,

« 2, Option ID :- 482,

« 3, Option ID :- 483,

« 4, Option ID :- 484,

Answer Given:- 2, Option ID : -482

Question ID:- 122



Read the passage given below and answer the questions that follow :

You read history in books. But in old times, when man did not exist, surely no books
could have been written. How then can we find out what happened then? We cannot
merely sit down and imagine everything. This would be ver interesting for we could
imagine everything we wanted to and would thus make up the most beautiful fairy tales.
But this need not be true as it would not be based on any facts that we had seen. But
although we have no books written in those far-off days, fortunately we have some things
which tell us a great deal as well, almost as a bo k would. We have rocks and mountains
and seas and stars and rivers and deserts and fossils f old animals. These and other like
things are our books for the earth’s early story. And the real way to understand this story
is not merely to read about it in other people’s books but to go to the great Book of Nature
itself. You will, [ hope, soon begin to learn how to read this story from the rocks and
mountains. Imagine how fascinating it is !. Every little stone that you see lying on the road
or on the mountain side may be a little page in nature’s boek and may be able to tell you
something if you only knew how to read it. To be able to read any language, Hindi or
Urdu or English, you have to learn its alphabet. So also you must learn the alphabet of
nature before you can read her story in her books of stone and rock. E en aow perhaps
you know a little how to read this.

How do we know about the earth’s early story ?
(1) From books

(2) From fairy tales
(3) From rocks, mountains and other sources
(4) From history.

Options:-

«1, Option ID :- 485,

« 2, Option ID :- 486,

« 3, Option ID :- 487,

« 4, Option ID :- 488,

Answer Given:- 1, Option ID : -485

Question ID:- 123



Read the passage given below and answer the questions that follow :

You read history in books. But in old times, when man did not exist, surely no books
could have been written. How then can we find out what happened then? We cannot
merely sit down and imagine everything. This would be ver interesting for we could
imagine everything we wanted to and would thus make up the most beautiful fairy tales.
But this need not be true as it would not be based on any facts that we had seen. But
although we have no books written in those far-off days, fortunately we have some things
which tell us a great deal as well, almost as a bo k would. We have rocks and mountains
and seas and stars and rivers and deserts and fossils f old animals. These and other like
things are our books for the earth’s early story. And the real way to understand this story
is not merely to read about it in other people’s books but to go to the great Book of Nature
itself. You will, I hope, soon begin to learn how to read this story from the rocks and
mountains. Imagine how fascinating it is . Every little stone that you see lying on the road
or on the mountain side may be a little page in nature’s boek and may be able to tell you
something if you only knew how to read it. To be able to read any language, Hindi or
Urdu or English, you have to learn its alphabet. So also you must learn the alphabet of
nature before you can read her story in her books of stone and rock. E en aow perhaps
you know a little how to read this.

Which figure of speech is used in the expression “the alphabet of nature”?
(1) paradox

(2) alliteration

(3) Simile

(4) Metaphor
Options:-

«1, Option ID :- 489,
« 2, Option ID :- 490,
« 3, Option ID :- 491,
« 4, Option ID :- 492,
Answer Given:- 4, Option ID : -492

Question ID:- 124



Read the passage given below and answer the questions that follow :

You read history in books. But in old times, when man did not exist, surely no books
could have been written. How then can we find out what happened then? We cannot
merely sit down and imagine everything. This would be ver interesting for we could
imagine everything we wanted to and would thus make up the most beautiful fairy tales.
But this need not be true as it would not be based on any facts that we had seen. But
although we have no books written in those far-off days, fortunately we have some things
which tell us a great deal as well, almost as a bo k would. We have rocks and mountains
and seas and stars and rivers and deserts and fossils f old animals. These and other like
things are our books for the earth’s early story. And the real way to understand this story
is not merely to read about it in other people’s books but to go to the great Book of Nature
itself. You will, [ hope, soon begin to learn how to read this story from the rocks and
mountains. Imagine how fascinating it is !. Every little stone that you see lying on the road
or on the mountain side may be a little page in nature’s boek and may be able to tell you
something if you only knew how to read it. To be able to read any language, Hindi or
Urdu or English, you have to learn its alphabet. So also you must learn the alphabet of
nature before you can read her story in her books of stone and rock. E en aow perhaps
you know a little how to read this.

Reading from the great Book of Nature could be ...
(1) exhausting

(2) fascinating
(3) frustrating
(4) meaningless

Options:-

«1, Option ID :- 493,

« 2, Option ID :- 494,

« 3, Option ID :- 495,

« 4, Option ID :- 496,

Answer Given:- 2, Option ID : -494

Question ID:- 125



Read the passage given below and answer the questions that follow :

You read history in books. But in old times, when man did not exist, surely no books
could have been written. How then can we find out what happened then? We cannot
merely sit down and imagine everything. This would be ver interesting for we could
imagine everything we wanted to and would thus make up the most beautiful fairy tales.
But this need not be true as it would not be based on any facts that we had seen. But
although we have no books written in those far-off days, fortunately we have some things
which tell us a great deal as well, almost as a bo k would. We have rocks and mountains
and seas and stars and rivers and deserts and fossils f old animals. These and other like
things are our books for the earth’s early story. And the real way to understand this story
is not merely to read about it in other people’s books but to go to the great Book of Nature
itself. You will, I hope, soon begin to learn how to read this story from the rocks and
mountains. Imagine how fascinating it is !. Every little stone that you see lying on the road
or on the mountain side may be a little page in nature’s boek and may be able to tell you
something if you only knew how to read it. To be able to read any language, Hindi or
Urdu or English, you have to learn its alphabet. So also you must learn the alphabet of
nature before you can read her story in her books of stone and rock. E en aow perhaps
you know a little how to read this.

What is a “fossil’ ?

(1) remains of a living organism turned into rock

(2) acorpse
(3) adying person
(4) a chemical substance

Options:-

«1, Option ID :- 497,

« 2, Option ID :- 498,

« 3, Option ID :- 499,

« 4, Option ID :- 500,

Answer Given:- 1, Option ID : -497

Question ID:- 126

Rearrange the part in correct order to make meaningful sentence.
(a) that the earth

(b)  who first discovered

(¢) it was Copernicus

(d) revolves round the sun

(M @), b) (o) (d)
(2 () () (©) (d)
(3)  (0), (b) (a) (d)
(4) (), (), (b), (a)
Options:-

.1, Option ID :- 501,
« 2, Option ID :- 502,
« 3, Option ID :- 503,

« 4, Option ID :- 504,
Answer Given:- 3, Option ID : -503



Question ID:- 127

Rearrange the part in correct order to make meaningful sentence.
(a) understood by all
b) good writers write

(
(¢) in plain
(

d) and lucid language

(1) @), ®), (©) (d)

(2 (© (d), (), (b)

3 ®) () (@) ()

(4 (@), (o) (b), (a)
Options:-

«1, Option ID :- 505,
« 2, Option ID :- 506,
« 3, Option ID :- 507,
« 4, Option ID :- 508,
Answer Given:- 3, Option ID : -507

Question ID:- 128
Change the following sentence from Active Voice te Passive Voice.

Who gave you that book to read ?
(1) By whom were you given that book ?

(2)  You were given that book to read by w om ?

(3) By whom were you given that book to read ?

(4) That book was given to you to read by whom ?
Options:-

«1, Option ID :- 509,
« 2, Option ID :- 510,
« 3, Option ID :- 511,
« 4, Option ID :- 512,
Answer Given:- 3, Option ID : -511

Question ID:- 129

Change the following sentence from Active Voice to Passive Voice.
People speak English all over the world.

(1)  English was spoken all over the world by people.

(2) English is spoken ail over the world.

(3)  All over the world English is spoken.

(4) English is being spoken all over the world.

Options:-

«1, Option ID :- 513,
« 2, Option ID :- 514,
« 3, Option ID :- 515,



« 4, Option ID :- 516,
Answer Given:- 2, Option ID : -514

Question ID:- 130

Fill in the blank with correct preposition.

Besides general merchandise, the shopkeeper deals _____cosimetics too.
(1) at
(2) with
(3) in
(4) for
Options:-

«1, Option ID :- 517,
« 2, Option ID :- 518,
« 3, Option ID :- 519,
« 4, Option ID :- 520,
Answer Given:- 2, Option ID : -518

Question ID:- 131

Fill in the blank with correct preposition.

The hawl that I bought annot be inferior  the ne that you have bought.
(1) with
(2) upon
(3) than
(4) to
Options:-

«1, Option ID :- 521,
« 2, Option ID :- 522,
« 3, Option ID :- 523,
« 4, Option ID :- 524,
Answer Given:- 1, Option ID : -521

Question ID:- 132

Identify the correct tense form of the underlined part in the given sentence.

Why have you been wasting your time at home ?

(1)  Present Perfect Tense

(2)  Present Perfect Continuous Tense
(3) Past Tense
(

4)  Present Continuous Tense

Options:-

«1, Option ID :- 525,
« 2, Option ID :- 526,
« 3, Option ID :- 527,

« 4, Option ID :- 528,
Answer Given:- 2, Option ID : -526



Question ID:- 133

Identify the correct tense form of the underlined part in the given sentence.

He had finished the task much earlier.
(1) Present Tense

(2) Past Perfect Continuous Tense
(3) Past Perfect Tense

(4) Past Tense

Options:-

.1, Option ID :- 529,

« 2, Option ID :- 530,

« 3, Option ID :- 531,

« 4, Option ID :- 532,

Answer Given:- 3, Option ID : -531

Question ID:- 134

Identify the part which contains an error.
Our country / has given birth to / great revolutionaries, / isn’t it ?
(1) (2) 3) (4)
Options:-
.1, Option ID :- 533,
« 2, Option ID :- 534,
« 3, Option ID :- 535,
« 4, Option ID :- 536,
Answer Given:- 4, Option ID : -536

Question ID:- 135

Identify the part which contains an error.
He has been / relieved from / all his / duties.
(1) (2) (3) )

Options:-

.1, Option ID :- 537,

« 2, Option ID :- 538,

« 3, Option ID :- 539,

« 4, Option ID :- 540,

Answer Given:- 3, Option ID : -539

Question ID:- 136

Identify the words nearest in meaning to the given word.
SLEUTH
(1) convict

(2) enemy
(3) detective
(4) policeman



Options:-

«1, Option ID :- 541,

« 2, Option ID :- 542,

« 3, Option ID :- 543,

« 4, Option ID :- 544,

Answer Given:- 4, Option ID : -544

Question ID:- 137

Identify the words nearest in meaning to the given word.
BREVITY
(1) abbreviation

(2) conciseness

(3) summary

(4) reduction
Options:-

«1, Option ID :- 545,
« 2, Option ID :- 546,
« 3, Option ID :- 547,
« 4, Option ID :- 548,
Answer Given:- 4, Option ID : -548

Question ID:- 138

Choose the word opposite in meaning to the given word.
WRATH
(1) scomn

(2) happiness

(3) laughter

(4) indifference
Options:-

.1, Option ID :- 549,
« 2, Option ID :- 550,
« 3, Option ID :- 551,
« 4, Option ID :- 552,
Answer Given:- 1, Option ID : -549

Question ID:- 139

Choose the word opposite in meaning to the given word.
STRINGENT

(1) soft

(2) harsh
(3)  slippery
(

4)  lenient

Options:-
«1, Option ID :- 553,



« 2, Option ID :- 554,
« 3, Option ID :- 555,

« 4, Option ID :- 556,
Answer Given:- 4, Option ID : -556

Question ID:- 140

Identify the part of speech of the underlined word.
He has been working diligently on this project.

(1) Adjective

(2) Adverb

(3) Verb

(4) Noun
Options:-

«1, Option ID :- 557,
« 2, Option ID :- 558,
« 3, Option ID :- 559,

« 4, Option ID :- 560,
Answer Given:- 2, Option ID : -558

Subject : MATHS_Q141-Q160_PRT26FEBSH2

Question ID:- 141

Table given below has two columns A «nd B

A
(a) saree i) m
(by length of table (i) km
(c) distance between Delhiand Agra (iii) cm

Which among the foll wing eptions correctly matches length items of column A with that of
measurement given in column B ?

(1) (a)-(), (b) ('") (C) (1)
(2 (a)-(), (b 111)
@) (@-@) (

(4)  (a)-(iii), (b)- () ( ) (11)



Fra & afem 5§ 5 =9 A SRB € :

A B

(a) =& (1) m
(b) = Fr FEETS (i) km
(c) ficett 3k s & = &t 2@t (i)  cm
Fefafed Mwed § 9 57 @ @Y (A) § § 7 T arel aegsil #1, &9 (B
FEA T ?

(1) (a)-(ii), (b)~(iii), (c)-(1)

(2) (a)-(i), (b)-(ii), (c)-(iii)

(3) (@)@, (b) (m) (c)-(i)

(4) (a)-(ii1), (b)-(3), (c)-(ii)
Options:-

-1, Option ID :- 561,
« 2, Option ID :- 562,
« 3, Option ID :- 563,
« 4, Option ID :- 564,
Answer Given:- 4, Option ID : -564

Question ID:- 142

Tw digits number which are divisible by 7 are:

(1) 13
2 12
3) 14
(4) 11

Q Fiam gead, st 7 G fawes €, ® -
(1) 13

(2) 1

(3) 14

(4) 11

Options:-

«1, Option ID :- 565,
« 2, Option ID :- 566,

« 3, Option ID :- 567,

« 4, Option ID :- 568,
Answer Given:- 3, Option ID : -567

Question ID:- 143

) § feu e ardt | W& faems



In word “‘WAVE’ number of acute angles are

(1) 4
2 5
(3) 6
(4 -~

3l % WIsg ‘WAVE' H =[A SIvil &1 @& &
(1) 4

(2) 5

(3) 6

(4) 3

Options:-

«1, Option ID :- 569,
« 2, Option ID :- 570,
« 3, Option ID :- 571,

« 4, Option ID :- 572,
Answer Given:- 2, Option ID : -570

Question ID:- 144

A taxi meter shows charges for Rs 60 for the first two kilometers of journey and Rs 16 for every
subsequent kilometer. If Rahul travels 19 km, then he will have to pay (in Rs)

(1) 304

(2) 364
(3) 348
(4) 332

Teh 2 HieX Yot ) FhalHieR Y a1 91e1 (I19) 60 % U & 3R 3GF 18 % qoiF fhelidict +
16% 1 4fE TgA 19 km &) a0 FLa1 §, 91 3 (3 H) 1A HET B

(1) 304

(2) 764

(3) "48

(4) 232

~J

I

W

Options:-

«1, Option ID :- 573,

« 2, Option ID :- 574,

« 3, Option ID :- 575,

« 4, Option ID :- 576,

Answer Given:- 4, Option ID : -576

Question ID:- 145



A man purchased a 5 litre can of a sanitiser and filled it in 30 botties of 25 mL « nd rest in 425 small
bottles. Volume of small bottles (in mL) is :

1 9

(2 10
3) 15
(4) 12

e 3eH! A4 5 forer Afads & fesa (F7) @l 3R 3 25 mL arefl 30 diaddl H . 3R 9 &Y 425
B Ardcdl § 9| SIS S hl AFaT (mLH) B

(1) 9

(2) 10
(3) 15
(4) 12
Options:-

«1, Option ID :- 577,

« 2, Option ID :- 578,

« 3, Option ID :- 579,

« 4, Option ID :- 580,

Answer Given:- 2, Option ID : -578

Question ID:- 146

Numbers 8759, 8957, 9321, 8530 and 9123 in increasing order are
(1) 8530, 8759, 8957, 9123, 9321.
(2) 8570, 8759, 8957, 9321, 9123.
(3) 8759, 8957, 8530, 9123, 9321.
(4) 8759, 8570, 8957, 9123, 9321.

Tl 8759, 8957, 9321, 8530 3 9123 H1 S FH § :
(1) 8530, 8759, 8957, 9123, 9321.

(2) 8530, 8759, 8957, 9321, 9123.

(3) 8759, 8957, 8530, 9123, 9321.

(4) 8759, 8530, 8957, 9123, 9321.

Options:-

«1, Option ID :- 581,

« 2, Option ID :- 582,

« 3, Option ID :- 583,

« 4, Option ID :- 584,
Answer Given:- 1, Option ID : -581

Question ID:- 147



What should be subtracted from sum of 3458 and 8138 to obtain 485 ?

(1) 11121
(2) 11011
3) 11111
(4) 10101

3458 3 8138 & AN § W 1 T I f 485 YW & W0 ?
(1) 11121
(2) 11011
(3) 11111
(4) 10101

Options:-

«1, Option ID :- 585,

« 2, Option ID :- 586,

« 3, Option ID :- 587,

« 4, Option ID :- 588,

Answer Given:- 3, Option ID : -587

Question ID:- 148

An aeroplane flies from Delhi on 201" N v. 2022 at 11 : 10 pm and reaches Chennai at 2 : 20 am.
next day. How long does it take to reach Ch  aai ?

(1) 3 hours and 10 minutes.
(2) 3 hours.

(3) 3 hours and 20 minutes.
(

4) 2 hours and 50 minutes.

T AT SierS feeei | 20 A99R 2022 B 11 : 10 pm R I § 3 22 20 am T =48 30 A g9 St
2| o7 e TEEA 1 I qH ¥ 2
3 "¢ 3R 10 fAe.

Options:-

«1, Option ID :- 589,

« 2, Option ID :- 590,

« 3, Option ID :- 591,

« 4, Option ID :- 592,

Answer Given:- 1, Option ID : -589

Question ID:- 149



Ramesh is running along the boundary of a rectangular park whose sides are 750 m and 350 m. If
his each step covers 80 cm, then how many steps he will cover in two rounds of the park ?

(1) 5600

(2) 5800
(3) 5500
(4) 5000

WY U APAIHR 97h, fSant e 750 m 2R 350 m ¥, 1 €\ & |@-wie QS @ 7 ) Al 35 T
HEH 80 cm H1 ¢ 1 98 WA % QN =aR o | Fohad e @ ?

(1) 5600

(2) 5800

(3) 5500

(4) 5000
Options:-

.1, Option ID :- 593,
« 2, Option ID :- 594,
« 3, Option ID :- 595,

« 4, Option ID :- 596,
Answer Given:- 3, Option ID : -595

Question ID:- 150

Seema went to purchase some fruits and vegetables. Shopkeeper has pasted this list of items :

[tems Rate per kg
Orange Z90
Peas Z 80
Tomato Z35
Onion Z35
Potato T35
Apples T 150
Grapes Z120
Cauliflower F 50

If she paid X 175/ - for oranges, ¥ 60 for grape , I 150 for apples, X 70 for tomatoes, X 35 for onions
and ¥ 70 for potatoes, then what was the weight of items bought by her ?

1)y 8.0
2) 7.5
(3) 8.5
(4) 7.0



O 9 %a iR gfesai @iy T | gHFER | el & 919 i gHl o g2 ot |
e 9@ gfa feedum (kg)

Jqa Z90
EarAs 780
THA z35
IS T35
g Z35
I9 Z 150
IR T 120
A Tt Z50

3T Hall # forw 135 %, R W fAU 60 T, A8 & fT0 150 %, TARR F foqw 70 5, WA F fw 35 % 3R
70% 3] < fom oy, @ <9 g wiie 7w H 9 fhad kg *1?

(1) 8.0

(2) 7

(3) 8.5

(4) 7.0

Options:-

«1, Option ID :- 597,

« 2, Option ID :- 598,

« 3, Option ID :- 599,

« 4, Option ID :- 600,

Answer Given:- 1, Option ID : -597

Question ID:- 151

Teacher wrote fra tions

1311135

4525346

On black board. Which among these fraction is smallest & greatest ?

1 5
1 - X
OIS
@ 1

2 O

1
3 -
® 13

1
4 —
O



foraga 3 wama-wez w e fore,

4525346
= Tl © vl 31 i vl 92 i A E 82

, 1
1 -
(1) 3
1
3 2
1
@3 =, -
4 4
1
4 - -
(4) =3
Options:-

.1, Option ID :- 601,
« 2, Option ID :- 602,
« 3, Option ID :- 603,
« 4, Option ID :- 604,
Answer Given:- 4, Option ID : -604

Question ID:- 152

If sum of 5 odd consecuti e numbers is 55, then sum of next 3 even consecutive numbers is :

(1) 50
(2) 54
3) 52
(4) 48

gfg 5 favq sanTa Gemstl #1390 55 ¥, 91 37Tel) 3 WR HHFId Temed i AR |
(1)
(2)
(3)
(4)

50
54
52
48

Options:-

-1, Option ID :- 605,

« 2, Option ID :- 606,

« 3, Option ID :- 607,

« 4, Option ID :- 608,

Answer Given:- 2, Option ID : -606

Question ID:- 153



A family has monthly income of Rs 30,000/- Family budget is shewn in the following table :

Item Expenditure (in I)
Food 10000
Rent 5000
Education of children 5000
Medicines 2000
Conveyance 3000
Entertainment 1000
Miscelleneous 4000

Based on above, find out which of the following option is not correct ?

(1) Expenditure on rent and education of children is equal to expenditure on food.
(2)

(3) Expenditure on conveyance is three times the expenditure on entertainment.
(4)

Expenditure en education of children is two times the expenditure on medicine .

Miscellaneeus expenditure is equal to sum of expenditures on conveyance and entertainment.

T YER # 9if® ™ 30,000 % & | URER F1 S Jre aifere] § fe@mn =

g ad (5. #)

sl 10000
fsarem 5000
=41 & Terd 5000
zadai 2000
ez 3000
AR 1000
A 4000

T % YR W 1 Hifau fF 5 1§ 4 9 a1 ey w8 T8 & 2

(1) foud o 9= Y wQrE W7 g =9 o1 AN, oA R o 0 =5 o 9 R
(2) = T WG W g =, TaE W gL AT H A F |

(3) uRas W gN %, HARSH W gL &5 &1 1A A1 § )

(4) Tafay w2 w gan =19 uf@ed sik 5dEHA W gu o & 4m & F9F B
Options:-

.1, Option ID :- 609,
« 2, Option ID :- 610,



. 3, Option ID :- 611,

« 4, Option ID :- 612,
Answer Given:- 1, Option ID : -609

Question ID:- 154

Study the pattern given below

11 = 2
14 = 5
59 = 14 = 5
66 = 12 3
78 = 15 = 6
112 = 4
Based on this number 198 can be written as :
1y 9
(2 6
3) 5
4) 7
< fu e =t ufeu
11 = 2
14 = 5
59 = 14 = 5
66 = 12 = 3
78 = 15 = 6
112 = 4
39 SMSA & YR W 198 Al fo@ S a1 &
(1) 9
(2) 6
(3) 5
(4) 7
Options:-

«1, Option ID :- 613,
« 2, Option ID :- 614,
« 3, Option ID :- 615,
« 4, Option ID :- 616,
Answer Given:- 1, Option ID : -613

Question ID:- 155



Which one of the following statements is not true ?
(1) Opposite sides of a rectangle are unequal.

(2) Allsides of square are equal.

(3) Pentagon has 5 corners.

(4) Triangle has 3 sides.

e el § I 1 9El @ 82

(1) 3rFd & GE@ Y0 3THHH &l 2 |
(2) = Y |t g THE e 2 )

(3) TSI WE BB B

(4) F1Y9 & 9 ye A ¥

Options:-

«1, Option ID :- 617,

« 2, Option ID :- 618,

« 3, Option ID :- 619,

« 4, Option ID :- 620,
Answer Given:- 1, Option ID : -617

Question ID:- 156

The number of triangles in the given figure are

1 12
2) 15
(3) 18
(4) 20



fret €t 18 smepfa A frvysi 1 dem @

Options:-

.1, Option ID :- 621,

« 2, Option ID :- 622,

« 3, Option ID :- 623,

« 4, Option ID :- 624,

Answer Given:- 4, Option ID : -624

Question ID:- 157

The successor of a number is related to the redecessor in someway. The missing number in the
pattern 3, 5,9, 17, , 65 1s :

(1) 29
() 25
(3) 33
(4) 45

ITad! G aY1 qEadl den vy § fadt g 92 gu d )
Y24 :3,5917, 5 HmIENE:

Options:-

.1, Option ID :- 625,

« 2, Option ID :- 626,

« 3, Option ID :- 627,

« 4, Option ID :- 628,

Answer Given:- 3, Option ID : -627

Question ID:- 158



Madan takes 2 hours 48 minutes to climb a hill and 1 hour 22 minutes te return at the starting
point. When should he start so as to be back by 2 : 30 pm ?

(1) 10:45am
(2) 10:20am
(3) 9:20am

(4) 11:18 pm

T IS 9% § UEA 2 ¥ 48 fiAe o § 91 avy o ToA W oA § 1w 22 e o ) Afg s
2:30 pm W A9 ANA § @ 98 G w1 e ARY T 2

(1) 10 : 45 am
2) 10 : 20 am
)

)

Options:-

.1, Option ID :- 629,

« 2, Option ID :- 630,

« 3, Option ID :- 631,

« 4, Option ID :- 632,

Answer Given:- 2, Option ID : -630

Question ID:- 159

The sum of five consecutive multiples of 6 © 2040. The largest multiple is :

(1) 420
(2) 450
(3) 456
(4) 462

6 % Ui SHEWTA VIS 1 A1 2040 B | F9Y TS U § -
(1) 420

Options:-

.1, Option ID :- 633,

« 2, Option ID :- 634,

« 3, Option ID :- 635,

« 4, Option ID :- 636,

Answer Given:- 1, Option ID : -633

Question ID:- 160



A shopkeeper sells toffee at the rate of T 1 per toffee and agrees ti give one free toffee for its three
wrapers. The number of toffees which can be purchased with T 27 is :

1y 27
() 36
(3) 39
(4) 40

T GHATR X 1 %1 U 2 A= & q91 419 TR % 95e1 Ueh SR HH &7 ol HeHd a1l & 1 27 o3 § 5
frat T & S GaRd! & ?

Options:-

.1, Option ID :- 637,
« 2, Option ID :- 638,
« 3, Option ID :- 639,

« 4, Option ID :- 640,
Answer Given:- 2, Option ID : -638

Subject : EVS_Q161-Q180_PRT26FEBSH2

Question ID:- 161

Given below are two statements. One of them is labeled as Assertion (A) and the other as Reason(R).
Choose the correct answer with the help of code given below:

Assertion (A) : Coal, Petroleum ani Natural gas can be prepared from the dead animals in a
laboratory.

Reason (R) : The situation for production of Coal, Petroleum and Natural Gas cannot be created
in a 1 boratory.

(1)  (A) and (R) both are true and (R) is the correct explanation of (A).

(2) (A) and (R) both are true but (R) is not the correct explanation of {A).

(3) (A)istrueb t(R)is false.

(4) (A) is false but (R) is true.



T Q) a7 fau mu F ) w1 sfiaEme (A) oIt GRS WROT (R) e TR AT e e w5 wara

H WE) IR B 95T B

afwed (A) :  waAEnen § gd Sitdl 9 FEe, S2faem ok apfas g 9 S awdt 7

R (R) : Tq Sirat § Hren, faad sik urpfas 711 933 @ eftafear s@renan § 3o 38 =t
S Hehel € |

1) (A) 3R (R) 3 wA § R (R), (A) FT L AN F@A R

2) (A) IR (R) I W €, W (R), (A) ) & =HrEm A8 FA@ 2 |

3) (A) W& 8, W (R) T R

4) (A) @A g, T (R) G2

Options:-

.1, Option ID :- 641,

« 2, Option ID :- 642,

« 3, Option ID :- 643,

« 4, Option ID :- 644,

Answer Given:- 4, Option ID : -644
Question ID:- 162

Given below are two statemenss. One of them is labeled as Assertion (A) and the other as Reason
(R). Choose the correct answer with the help of code given below:

Assertion (A) : Clothes made of Polyester fibre should not be worn while working in the kitchen.

Reason (R) : It is very dangerous when clothe made of polyester get fire because it melts under
fire and sticks to the body of the person wearing it.

(1)  (A) and (R) both are true and (R) is the correct explanation of (A).

(2)  (A) and (R) both are true and (R) i not the correct explanation of (A).
(3) (A)is true but (R) is false.

(4) (A) is false but (R) is true.

A9 Q a7 T § ) w1 e (A) 3R g8 H BT (R) e 1 1A KU T %2 W wErEa
A ) IR A 9T H

AR (A) : TR H W HW 497 difcer § 99 5 T8 veA17 =fsw)

FHA (R) : AR ¥ 94 FUg H 0 o7 1 @ ogd Gadek 3 dhdl & Fifd 98 3 ¥ faga
ST ¥ 3R YeT aret safad % TR | s S R

1) (A) IR (R) 3 T €, 3l (R), (A) 1 W&l =TSN F=@A D

2) (A) IR (R) I W €, W (R), (A) ) E& e A8 @ 2 |

3) (A) T ®, T (R) TR

4) (A) 7A@ 4{g (R) €7

Options:-

.1, Option ID :- 645,

« 2, Option ID :- 646,
. 3, Option ID :- 647,



« 4, Option ID :- 648,
Answer Given:- 1, Option ID : -645

Question ID:- 163
Tuberculosis is caused by:
(1) Virus
(2) Bacteria
(3) Fungus
(

4) Protozoa

& U7 1 FRF o
1) fawmg

(
(2) SfaT
(3)

(

3) Wge
4)  Fsha

Options:-

.1, Option ID :- 649,

« 2, Option ID :- 650,

« 3, Option ID :- 651,

« 4, Option ID :- 652,

Answer Given:- 4, Option ID : -652
Question ID:- 164

Microorganisms are used in agriculture to increase soil fertility as by their help :
(1) Carbon dioxide fixation happ ns.

(2) Hydrogen fixation happens.

(3) Oxygen fixation happens.

(4) Nitrogen fixation happens.

Samedt @ IwEm Hfu J ge1 ) 3dwa 9 gfg FA § R o € FAfE sqw e @
(1) oA erEsfrFEe ferdmm em e

(2) BRI ReldaRm g §1

(3) e feerfiam g €1

(4) A fermmm g )

Options:-

«1, Option ID :- 653,
« 2, Option ID :- 654,
« 3, Option ID :- 655,

« 4, Option ID :- 656,
Answer Given:- 3, Option ID : -655



Question ID:- 165

Given below are two statements. One labeled as Assertion (A) and the other labeled as Reason(R).
Choose the correct answer with the help of code given below :

Assertion (A) : Sometimes, manure is added to the soil before tilling.

Reason (R) : Adding manure before tlling helps in proper mixing of manure in the soil.
Code :

(1)  (A) and (R) both are true and {R) is the orrect explanation of (A).

(2) (A) and (R) both are true but (R) is not the correct explanation ef (A).

(3) (A)1i true but (R) is false.

(4) (A) is false but (R) is true.

T Q) e fou mu ) ok i AR (A) 3R GE F FT (R) Fe ) A U e e Y "amn
H TE R W =TI B

Ao (A) :  Fui-efl IO A ggt Wl § WiR Sl et §

FHROT (R) : A% % FHE W e 9 @ig faedt § welt-wifq fad st 8 )

(1) (A) 2R (R) A T& § 2R (R), (A) B G =men F=3d@ 2

(2) (A) dR(R) 3 G €, 3R (R), (A) F) G& AN T Tl

(3) (A) ¥ &, W (R) T €

(4) (A) Terd ¥ W (R) ¥ T

Options:-

«1, Option ID :- 657,

« 2, Option ID :- 658,

« 3, Option ID :- 659,

« 4, Option ID :- 660,

Answer Given:- 2, Option ID : -658
Question ID:- 166

Below are two statemenms. Choose the correct answer from the given options.
Statement (I) : Technology means only big machines and instruments.
Statement (II) : It is only related to the method of making work easy.

(1) Statement (I) and (II) both are true.

(2) Statement (I) and (II) both are false.

(3) Statement (I) is true but Statement (II) is false.

(4) Statement (I) is false but Statement (II) is brue.



g < e feu e 2 | fou o fawmed ¥ | 98 S =FEA B
U (I) : dHAH B 3 T HAA-IL] FIA AR A= |
YA (II) : TT had HH I T LA w1 Jiwa 4 St g3 8
(1) = (1) 3R (1) A & ¥

(2) A (1) 3R (II) S T B

(3) A () T 8, W weA (1) 7Td & |

(4) W () T7d 8, WG HAA (1) HS 2|

Options:-

.1, Option ID :- 661,

. 2, Option ID :- 662,

« 3, Option ID :- 663,

« 4, Option ID :- 664,
Answer Given:- 2, Option ID : -662

Question ID:- 167

Below are two statemenss. Choose the correct answer from the given options.
Statement (I) : Inhaled air in humans only contain oxygen.

Statement (II) : Exhaled air in humans only ontain carbon dioxide.

(1) Both Statement {I) and Statement (II) are true.

(2) Both Statement (I) and Statement (II) are false.

(3) Statement (I) is true but Statement (II) is fal e.

(4) Statement (I) is false but Statement (II) is true.

i Q) T fgu e 1 feu gu famedi § 8 98 3@ &1 999 A
FRAF (1) : HI g A vATHd A H henl ARHISH Bl ¢ |
A (II) : T g Ioafad 9 9 Fad HieT-SEsiiaEe g ¢ |
(1) A (1) 3R wHeM (I1) A 9t T

(2) e (1) 3R weA (1) SHl 7o B

(3) HUF (I) WAl €, Gig A (II) 7Teid B |

(4) wheM (I) TAd &, T BAT (II) T T

Options:-

«1, Option ID :- 665,

« 2, Option ID :- 666,

« 3, Option ID :- 667,

« 4, Option ID :- 668,
Answer Given:- 1, Option ID : -665

Question ID:- 168



Warm air is lighter than the cold air because
(A) it expands.

(B) it occupies more space.

(C) its density increases.

(1) (A)and (B)

(2)  (B) and (C)

(3)  (A) and (C)

(4)  Only (C)

T4 %A1 I 59 1 A0 gohl e €, i
(A) =% Fad 21

(B) % SR TH Rl 2

(C) 3T ¥ TR Bl & |

(1) (A) 3R (B)
(2) (B) 3R (C)
(3) (A)$R ()
(4) %34 (O
Options:-

.1, Option ID :- 669,

« 2, Option ID :- 670,

« 3, Option ID :- 671,

« 4, Option ID :- 672,

Answer Given:- 1, Option ID : -669
Question ID:- 169

Given below are two statements. One of them is labeled as Assertion {A) and the other as Reason(R).
Choose the correct answer with the help of code given below :

Assertion (A) : Polar regions are very cold.

Reason (R) : un never rises in the Polar regions.

(1) (A) and (R) both are true and (R) is the correct explanation of (A).
(2) (A) and (R) both are true but (R) is not the correct explanation of (A).
(3) (A) is true but (R) is false.

(4) (A) is false but (R) is true.



A Q) A7 fgu ) uk F 3R (A) 39 gHY F F/IOT (R) Fe 90 S ) A Gy T e werEan
T TE I B T B

e (A) : yalg 87 0¥ 38 WA 7 )

FROT (R) : Y1 &1 9 g 357 ot 76 dan)

(1) (A) 3R ER) T 18 & IR (R), (A) N | o F1a )
(2)  (A) R (R) I & E, W (R), (A) F1 G e 78 he €
(3) (A) ¥ &, I (R) T4 )

(4) (A) TEd ¥ W (R) T €

Options:-

«1, Option ID :- 673,

« 2, Option ID :- 674,

« 3, Option ID :- 675,

« 4, Option ID :- 676,
Answer Given:- 4, Option ID : -676

Question ID:- 170

[ am an aquatic animal who pops out the stomach through my mouth to catch food. What is my
name ?

(1) Sea Horse

(2) Octopus
(3) Starfish
(4) Jellyfish

H U el g § S o e o o STHRA i R g | e Raperr / R €1 d0 am wn e ?
(1) ¥ e

(2) FRIT"

(3) T HSA

(4) St fEmm
Options:-

.1, Option ID :- 677,
« 2, Option ID :- 678,
« 3, Option ID :- 679,
« 4, Option ID :- 680,
Answer Given:- 4, Option ID : -680

Question ID:- 171



Read the following statements and choose the correct answer.
(1) The air coming out of our mouth can be cold or hot as compared to the temperature outside.

(2) The air coming out of our mouth will always be older as compared to the temperature
outside.

(3)  The air coming out of our mouth will always be hotter as compared to the temperature
outside.

(4) Theair coming out of our nuv uth will always be of same temperature as that of the temperature
outside.

1 o gu eyl H1 ue 3T HE SR H A HY |

(1) B9R qe & fercht g2 291 98T & qTI9H & gehieel $<1 21 7 grit |
(2) &9 g 9 el g 791 A1 F qIUEH F gEe gHe Al 3t g
(3) &R Hg & Faei g g1 91T & AUHE F ghEe s S T € |
(4) TR Y O el g2 &1 1 JUHH R F I o SR 201 |
Options:-

.1, Option ID :- 681,

« 2, Option ID :- 682,

« 3, Option ID :- 683,

« 4, Option ID :- 684,

Answer Given:- 3, Option ID : -683

Question ID:- 172
Given below are two statements. One of them is labeled as Assertion (A) and the other as Reason(R).

Choose the correct answer with the help of code given below :

Assertion (A) : People in Argentina and [ndia appear to be standing upside down in relation to
each other.

Reason (R) : There is actually no ‘up” and ‘down’ on the earth, it is relative.
(I) Both (A) and {R) are true and (R) is the correct explanation of (A).

(2) Both (A) and {R) re true but (R) is not the correct explanation of {A).

(3) (A)is true but (R) is false.

(4) (A)is false but (R) is true.

= < gan feu ) vt afiRe (A) iR @ L IR (R) et e R ) A Lo g2 F geern
H & A H =TT B

AT (A) : 9T 3R FHIA F 0T WA T g D I W WA o1 § )
FHWUT(R) : I&0 W' SR’ 3R ‘4R’ F8 71 g, 7€ 9ri & €1

(1) (A) 3R (R) T 981 €, 3l (R), (A) F & e F3d@1 & |

(2) (A) &R (R) 21 7 &, T (R), (A) Bt T = FE w1 )

(3) (A) & & W (R) 7oA B |

(4) (A) e ® R (R) W T



Options:-

«1, Option ID :- 685,

« 2, Option ID :- 686,

« 3, Option ID :- 687,

« 4, Option ID :- 688,

Answer Given:- 4, Option ID : -688
Question ID:- 173

Following musical insbrumeni are made up of dried gourd.

(A) Been

(B) Dhol

(C) Khanjiri
(D) Tumba

(1 (A) (B), (©)
@ (B) (©. D)
(3)  (A) (), (D)
(4) (A), (B), (D)
4 TGy 7 @ Al § S0 S 8
(1

(2) =™

(3 @l

(4)

(D (A) (B), (©)
2 (B) (O, D)
(@) (A) (©) D)
4 (A) (B), (D)
Options:-

«1, Option ID :- 689,

« 2, Option ID :- 690,

. 3, Option ID :- 691,

« 4, Option ID :- 692,

Answer Given:- 4, Option ID : -692
Question ID:- 174

The teeth of which animal keeps on growing through out i life ? Its teeth keeps on tearing due to
biting and gnawing.

(I) Dog

(2) Snake
(3) Squirrel
(4) Cow



form STaR % < S8 Fed Ted § 1 2fd | e SR Fat & HRY 39 afd o wd ¥

()
(2) =™
3) fiegd
(4) ™=
Options:-

«1, Option ID :- 693,

« 2, Option ID :- 694,

« 3, Option ID :- 695,

« 4, Option ID :- 696,

Answer Given:- 3, Option ID : -695
Question ID:- 175

Some statements are given related to Madhubani Painting. Choose the correct statemens.
(A) This is famous painting of Bihar.

(B) Powdered Rice and olours are used for this painting.

(C) The subject matter of these paintings are only males.

(D) Only males prepare these paintings.

(1) (A) and (B)
(2) (A)and (C)
(3) (A), (B) and (C)
(4)  (B), (C) and (D)

Hyrl fersshen & SR A Fo awiT e T ¥ 1 576 A G w1 T Y
(1) =8 faer =i yfgg RIwar |

(2) ¥e fEFHal % §91 H 98 U 9Ed wF Ty T S

(3) W Fagwan = favmarg fak geu 97 Sfgd 7

(4) 39 FRFIFHAT & FH oA HId FEI A B |

1) (A) &R (B)
2) (A)3R(©Q)
3) (A), (B) (O
4) (B), (O, D)

Options:-

«1, Option ID :- 697,

« 2, Option ID :- 698,

« 3, Option ID :- 699,

« 4, Option ID :- 700,

Answer Given:- 1, Option ID : -697

Question ID:- 176



Below are two statements. Choose the correct answer from the given option.

Statement (I) : In Braille script, a row of raised dots are made on a thick paper.

Statement (II) : Because of raised dots Braille script can be read by running the fingers on them.
(1) Statement (I) and (II) both are true.

(2) Statement (I) and (II) both are false.

(3) Statement (I) is true but Statement (II) is false.

(4) Statement (I) is false but Statement (II) is true.

1 < FyA feu e ) feu gu faswedi § 4 58 I 1 999 W
HIF (1) : oA fafy H§ 51 FHre W I gu fog 51 da 21
HA (I1) : TN FH &b FRAM 3R (IS faAfy) G g7 <1 el |
(1) e (1) 3R (11) A = T

(2) WA (1) 3R (1) A T 7 |

(3) WA (I) HEl &, g T (II) Tord 2 |

(4) A (I) T B, T ®UA (1) T B

Options:-

.1, Option ID :- 701,

« 2, Option ID :- 702,

« 3, Option ID :- 703,

« 4, Option ID :- 704,
Answer Given:- 1, Option ID : -701

Question ID:- 177

My mother and I both love to eat snakes. Whenever we feel like eating snakes, we go te a nearby
hotel and eat ‘Ling-hu-fen’. We are the residents of which place ?

(1)  Scouth Korea

(2) Vietnam
(3) Thailand
(4) Hongkong

g1 I | 1 WY @ 9gd 76 € | 99 oft g9R) | @ %) 3591 Edl §, 99 89 U % U e | e
“fen g -%3' @d &1 gvam forg e & @A 9 €2

(1) e ife

(2) faxaar

(3) gl

(4) M
Options:-

.1, Option ID :- 705,
« 2, Option ID :- 706,



« 3, Option ID :- 707,

« 4, Option ID :- 708,

Answer Given:- 3, Option ID : -707
Question ID:- 178

What was the artist Vishnu Chinchalkar famous for ?
(1) Rock painting

(2) Wax painting

(3) Making beautiful pictures using waste paper.
(4) Making beautiful pictures u ing dry leaves.

7R AR faw e fwafag gfag 9?
(1) 3« feswd & fau

(2) HH = FFHEA & fag

(3) G FS A e foF 791 & fag
(4) HQ v 9 g 9 99 & fom
Options:-

«1, Option ID :- 709,

« 2, Option ID :- 710,

« 3, Option ID :- 711,

« 4, Option ID :- 712,

Answer Given:- 4, Option ID : -712
Question ID:- 179

Kuduk is the name of a
(I) Language
(2) TFlower

(3) Dish
(4) Game
PehUTH
(1) v
(2 Td
(3) ==SA
4 €«
Options:-

.1, Option ID :- 713,
« 2, Option ID :- 714,
« 3, Option ID :- 715,

« 4, Option ID :- 716,
Answer Given:- 4, Option ID : -716



Question ID:- 180

Right to forest Act 2007 gives right to the tribal people over forests. But the condition is that it will
be given to those people :

(I) who have been living in the forest for atieast 20 years.
(2) who have been living in the forest for atleast 25 year .
(3) who have been living in the forest for atleast 15 years.
(4) who have been living in the forest for atleast 30 years.

St e b 2007 feaifadl S Siret W3 g feaar €1 oiferA fafus vl O v vd e} T
() NAMHFH-A-FHXFAT FA T TR
2) NANHH-T-FHBHAH STAH BRI
3) AN HI-I-FH 159 N T B @R T
(4) SEMFE-F-FHOTAH 9 J @@ E

Options:-

.1, Option ID :- 717,
. 2, Option ID :- 718,
. 3, Option ID :- 719,

« 4, Option ID :- 720,
Answer Given:- 1, Option ID : -717



